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1. Which among the following isa Retar,der?

Jill' Calcium sulphate

(B) Chromium oxide

(C) Tributyl acetate

(D) Sodium penta chloro phenate

- • r' .! .~. , ,

(A) 1E1T6iJ81lLJUl,,6iJGUL

2. The Bogue compound Tricalcium aluminate in clinkering process of cement is named as

(A) Alite

(B) Belite

riJI/' Celite

(D) Felite

81Q LD6lilrr6'lL Q@jGuiBl6'l6ll i9]1E6IT1T8;@)Ul Gu ITi9] (Clinkering) L6'l 'J1E1T6iJ81lLJUl ~~ uSlGGmL 6T6irr!D8i>.LG' U

QUIT (IljGlfl6irrQ U lLJiT
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3. The undesirable properties of cement is due to formation of

(A) dicalcium silicate

(B) tricalcium silicate

JIiI'f'. tricalci urn aluminate

(D) tetracalcium aluminate

6l u5IL lq.8;@56l5l('ljtDu ~i"8;rT i" u 6Nrrlj ffiGiT"-('lj@J rrffi ffirrlJ6MTlllrriJi ~ ('ljU Ui1jJ

. (A) ~La;rr6iJ6llUtD 6l6lSlGffiL

(B) LG"lJffirr6iJ6llUtD 6l6lSlGffiL

(C) L6OlIJffirr6iJ6llUtD ~Wu51G6OTL

(D) QLLlJrrffirr6iJ6llUtD ~Wu51G6OTL

4. As per IS specification, minimum time for initial setting of ordina:ry portland cement is

(A) 20 minutes jIf' 30 minutes

(C) 60 minutes (D) 12.0minutes

~P>iliIlU QIfP>i"1J urTlp>i1jJ6Ol1Ju5lmulq.

.~@5tD @56Ol!DP>i"G)DlJtD

(A) 20 ~u51L","ffiGiT

(C) . 60 ~u51L","fficir

(B) 30 ~u51L","ffiGiT

(D) 120 ~u51L","ffiGiT

5. Compressive strength of cement is determined using cube of size

(A). 15 cm

(C) 7.6 cm

(B) 50 cm

~7.06cm

(A)

(C)

AECI15

15 QIf.Ul.

7.6 QIf.Ul.
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(B) 50 QIf.Ul.

(D) 7.06QIf.Ul.



6: If water content, specific gravity and void ratio of given soil are 11.11%, 2.7 and
0.5 respectively, the' degree of saturation is equal to
(A) 40% (B) 50%

~ 60% (D) 70%

lDGWri5l~ffi1~, fil~m6lj, i"~mrTuLj lDrDWill Ljro~ 6>5I$li"ill C'ProlDG:w 11.11%, 2.7 lDrDWill 0.5 Gfdlro, ~i"~
~rolDQ~~~m6lj' .

(A) 40% (B) 50%

(C) 60% (D) 70%

7. Pick the incorrect principle in stone masonry. construction
(A) Stone should be properly dressed to requirements
, Header and bond stones should be of dumb-bull shapes
(C) Stones to be used should be hard, tough and durable
(D) Construction work of stone masonry should be raised uniformly'

ffiroQ ffiIT!!;i!}IG:6lJro Q) ffiC-G1lDrT6.-r!!;i5lro, ,$~ 6lJ (Ilj6lJ6.-rGlJrDJJ5Iro i"GlJlDIT6.-rro i" G:i" rT6lj Q IftiJ .

(A) ffirDffim G:i"ro6lJ8;G:ffirDU Qlfi!jl8;ffiUUL G:GlJGWrG1ill

(B) Q!"IDLLrT lDrDWill L51b'l""-ULj ffirDffim (Header a~d Bond Stones) Lillcj-Ljro (Dump-bull)
6lJ"1-6>51ro .@(Ilj8;ffi G:6lJGWrG1ill

(C) UW~U G1!!;i"u U G1ill ffirDffim ffi"l-mlD ITffi6lj ill, "'i!JIi5lw ITffi6lj ill, fil"l-!!;i!jI "'b'lW U Ui"IT ffi6lj ill .@(Ilj8;ffi'
G:6lJGWrG1ill

(D) ffiroQffiIT!!;i!jIG:6lJroQ) ffiL0lD IT6.-r!!;i5lro Q lDi!jIGlJITffi "'LLJrT!!;i"u U LG:GlJGWrG1 ill

8. Water-Cement ratio in concrete is the ratio of
(A) Volume ofwater to volume of cement
(B) Volume ofwater to the weight of cement
,,- Weight ofwater to the weight of cement
(D) Weight ofwater to the volume of cement

ffirDffiITb'l~u5Iro filrT/ 81uS! L"I- 6>5I$li"lDIT6.-ri!}lC'Pb'llDG:W ------ qJ,@)ill.

(A) filrfl~ u(IljlD~/81QlDGWr"l-~ U(IljlD~

(B) filrfl~ ,-!(IljlD~/81QloGWr"l-~ Gfb'lL

, (C) filrfl~ Gfb'lL/ 81QlDoo"l-~ Gfb'lL

(D) filrfl~ Gfb'lL/ 81Q lDOO<q.<imU(IljlD~
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9. In pavement concrete quality, a value:of compacting factor suggested varies

~ 0.75 to 0.80 (B) 0.60 tei0.85 ','•.

(0) 0.9 to 1.0 (D) 0.5 to 0.6

(A) 0.75 - 0:80

(0) 0.9 - 1.0

,
, 10. Type of stone masonry without any mortar

. (A) Random rubble

(B) Polygonal rubble

(0) Flint rubble

fIIIf Dry rubble

(B) '0.60 - 0.85

(D) 0.5 - 0.6

t51m_ULj Iliromruw!DW Ili60GIliITiti91 Gru6'o1Q)u5lGbrrumffi

(A) ~@ffiJIli!DW IJULjGii (Random rubble)

(B) ,UGbrC'Pili IJULj60 (Polygonal rubble)

(0) oOot51ffi1GbrLlJuLj60 (Flint rubble)

(D) "-.rorT IJULj60 (Dry rubble)

11. Generally the rail sections used in India ~re

(B) Bull headed

(D) Regular I-sections

(A) @C'9 iO"l-iOmro rumlli

(0) iOLmL ru"l-ru ru";Ili

AEC/15

(B) ~C'9 iO"l-iOmro rumlli

(D) I-GUITGbrW2!>ImLDuLj
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12. The curvatur.e correction for a distance of 800 m is
(A) 0.5 m
~ 0.05m.

(B) 0.005 m
(D) 5m

.$I6"OlLLDLL~~Lb 800 LD.8;/lirr6M6j,uSlu5J6iT6U6"Ol6IT6l.j8;/lirr6M:$1Q1j~IOt.D

(A) 0.5 LD (B). 0.005 LD

(C) 0.05 LD (D) 5 LD

,
13. Anallatic lens is fitted with

(A) Internal focussing telescope
iJiIi!I' External f,?cussingtelescope
(C) Ordinary telescope
(D) Tacheometric telescope

~6M6Ilrr"t8; 2..QIjUQUQlj8;/li /lioo_rr"t <OfIOWlL6iTQurrQlj~lOuuQj).$I!D~?

(A) "-LL.j!D@)6l5IUJ QlOrr;;"6IlGp;rr8;.$I

(B) Q6Ucl1uL.j!D @j6l5lUJQlOrr6"Ol6llGp;rr8;.$I

(C) •••rrlOrr~- QlOrrm6llGp;rr8;.$I

(D) GL8;G/lirrLDLuTl6iT QlOrrm6llGp;rr8;.$I

14. Which one is not a fundamental axis of a Theodolite?
(A) Line of sight
JJii" Axisof altitude bubble.
(C) Axis of plate level
(D) Horizontal axis

~ 6iT6UQlj6U6M6iJd>w6IT<Of~ :$1GUJrrL6"Ol6llL"t6iT ~ "tu um L ~ife; ~Q)6ll?

(A) urr,;-m6U8; G/lirrQj) '.

(B) GLDQ)~"'LDLL @juSl~6iT ~ife;

(C) ,sl9~"'LDLL @juSl~6iT ~ife;

(D) 4lmLLDLL ~ife;
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15. The unit of measurement for explosives for blasting
(A) Number' . ~Kg

(C) CU.m (D) Sq.m.

I

Q (;)JLq-::iiiE@<J8;@jU LU6i!ru (i)i::iiiEU U (51LDQ (;)JLq-IJ)@J!;i91 ffi6"Ol..IT~ ffi 8;ffi "-iE GliLD~ 6\J@j

(A) ,"OO-~8;6"Olffi (B) .$1G6\JIT .$1I)"ITLD

(C) ffiaT Lllt::.LrT (D) . ;'1911)"Lll.:'.LrT

16. . In analysis of rate the quantity of dry mortar for 10 cubic metre brick work is taken as

(A) . 10 m3 . ~ 3 m3'

(C) 0.3m3 (D) 1 m3

1 0 ffiaT LllL LrTQ IfrfJ ffiGil G@J6"Ol6\J8;@j GiE6"OlGlJ~ U (i)iLD "- 6\JrT ffiIT6"Ol1)"u516i!r ~ ffiGli 6151.$1iELD Imru GlJIT!PI '"(i)i ::iii918;
QffiITGITffiuu(i)i.$1lDi9I. •

(A) 10m3 (B) 3 m3 .

(C) 0.3m3 (D) 1m3

17. The technique of finding the fair price of an existing building or property at present is
knbwnas ~ .

(A) estimation. ("If valuation

(C) pncmg. ~D) costing

lJ):5luL5l(i)iiEGil
Q 1f6\J6151(i)i!!iGil

(B)
(D)

ffi~::iiiEGil
615I6"Ol6\J)51rT""'u5I ::iiiEGil

(lp6i!raTGIJ) 1mC'98;@jLD ~@ ffiLLq-LLD ~Gil6\Ji9I GIfIT::ii~6i!r'iE0GUIT6"OliELU )5I.LUITLUIJ)ITaT IJ):5lU6"OlU ~!DILU "-iEGliLD

(lp6"OllD

(A)
(C)

18. The useful part ofliveable area of a building is known as

(A) Floor area (B) Circulation area

(C). Plinth area ~ Carpet area

(A)

(C)
iE",,1)" ul)"uu~Gli

ciL::ii:5l6i!r U I)"UU ffi 6l.I

(B)

(D)
, "'0GlDITLLU UI)"UUffi6l.l

"
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The cost of a machine is Rs.50,000 with a useful life of 10 years. Its depreciated cost, after
5 years, if salvage value is Rs.10,000 on straight'lirie basis will ,be. - . . .

fI
[
!;

19.

(A) Rs. 20,odo
~Rs. 30,000

(B) Rs. 25,000

(D) Rs. 35,000

I@i.25,000

@i.35,000

(B)

(D)

~(Ilj 1.0qJ,oo(b1 IliIT6\ltD UllJ@li!i 6l.JITW6lj8; Ili~6lJ1!>6"OliD8;QiliITOOL .@llJ)i;iIi!'Il!>iIi!""' LDiIi!ULj @i,50,000, ~iD""'
IliITULj illili!uLj, @i. iO,OOOGT6"0116iJ GP;IT8;GIliITL...(b1 C'P6"OlJDLOJu,,!-~)i;iD.@lLl)i;iIi!'Il!>iIi!""' GiDti.JLDff6OT LDiIi!ULj
5 qJ,oo(b1 Ili~8;@jU t5I!D@j,

(A)' @i.20,900

(C) @i.30,000

, ~

"

201 Which of the following is the most correct estimate?
(A)' Plinth area estimate

"fY Detailed estimate
(B) .Cube rate estimate"

,(OJ Abstract .estimate

$ W8;IliOOL6l.J rDW6ITGTi9I u5l ,"If "rTlllJ ff60TIli__ 8;$ (b1?

(A) t51~""'I!>U'IULj (Plinth area)

(C) 6tS1rTl6l.Jff6OTi9I(Detailed)
, ,

(B) Ili60T"i9I'I6DiDtD (Cliberate)

(D), ffi(l!j8;IlitD (Abstract)

I'

21. If V is the stream speed and 8 is',the a;erage space gap between vehicles to follow, then
the theoretical capacity of a traffic lane with one way traffic flow by assuming an average
length ';f vehicle of L will be

rJI!' 1000V
+L

, 1000V
S

(B)
8

(C) 1000V + 2L (D) • 10008 +L8 I, V

V .GUff8;@j6l.J 'I l!>i9I G6l.JIli1!>6"OliDlLJtD, 8 "'Iff "rTl 6l.JITIli6OT.@6il LQ6l.J GIfI.., llJ lLJtD LDrDQ)ItD L "'10' "rTl 6l.JffIli60T
ffim 1!>6"OliDlLJtD QiliffOOL, ~(I!j 6l.JWlu Gu rr8;@j6l.J'I1!>6"OliD8;Q ffiff";""L "ff6"Ol6lJu5l"", iIi!!D""'

(A) 1000V
+L ' (B) ,1000V

8 S

(C) 1000V
+ 2L (D) 100bs

+L8 V
r".
\
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22. . The maximum strain energy stored at elastic limit per unit volume is known as

(A) proof resilience

(B) resilience

rJiIIf" modulus of resilience.

(D) strain energy density

~IT ,,!>I6\J@i BiGlIT,,!>IGTT6lSlQ>tEGiT66llD Qll)"u,,51Q> G8'BiITl8;BiUUL,,!-(!98;@jLD ~itlBiUL8' itlITl'-l <!%bWlDQ>

(A) .llillPJQI Q> L51GirrGlIT66lL Glj

(B) L51GirrGlIT66lLGlj

(C) L51GirrGlIT~LGlj8; @j6lmBiLD

(D) . ~ ITl'-I <!%bWlDQ> ,,!>ILIT ::!;~

23. '. When load is acting in longitudinal direction and when a change in length takes place, the'
str~ is known as

(' linear strain (B) lateral strain

(C) shear strain (D) volumetric strain

JljGTTQIIT8;8il Q> 6lSl66l8' Q8'W Q>U LQjl, JljGTTQIIT8;8il Q> lD ITWlDLD "!wU L LITQ>, ~,!i; i5 .~ ITl'-I

(A) JljGTTQlIT8;@j~ITl'-l (B) U8;BiQlITLQjl ~ITl'-l

(C) .IBlPJ8;C!' ~ITl'-l (D) . UQ,lD::!; ~ITl'-l

24. The deflection of a beam will be reduced if the moment of Inertia of the beam is

IJIf" Increased

(C) Constant

(B) Decreased

(D) Zero

~66l6\JLO i!il(!9u'-I::!;itllDGirr Gruu,,!-u5I(!9,!i;i5ITQ> ~(!9 6lSlLL::!;~Girr 6lSl008;B;LD @j66llD"-ILD?

(A) ,,!>I~BilDITGlITITQ>. (B) @j66llD,!i;i5ITQ>

~ lD~~ ~ ~
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.. .
25. A single acting steam hammer weighing W 'kN and.falling through a height ofH m drives a

pile to about x cm penetration 'under last five blows. Then, the allowable load on the 'pile is
kN.

(A) WH '." WHI 16(x + 0.25) 6(x+ 0.25)
"I WHo WHI (C) (D)26(x + 0.25) 36(x + 0.25)

~C'9 W kN 6fffi!J) 6f6"6lLlLj6"6lLlLJ~!D6"6l!J).Q8'lLJ6iJ6lSI';;61!T.£~iT6lSI8i~ib1lLJ6iJ 'H riJ. "_JJJ~~~~C'91f>19I Gl'iiJ)UULG\

<9I"l-~i91.@!J)$lEuuQ;1Lb @i~i91$ lEyS1lLJrr61!Ti9I,IE6"6lL5I5 <9I"l-u5I6iJ 'x! cm ~iJl~~!D@j .!9J6"6liJ).$l!J)19Ii>r..ll6iJ; @i~i91$ .
.• . -. , " 1.'._ _,) , '.

1EyS1u51ffi"J!D'-j6"6lLU UI.5 '. kN. .' .. ..

CA) WH
(B) WH

16(x + 0.25) 6(x + 0.25)
./

(C) WH (D) WH
26(x + 0:25) 36(x + 0:25) :'." . ,

I

L. ,

i,

26. COliJ.patibilityconditions are essentially required to solve
. , .

. (A) Substitute frame

. (B) Complextruss

iiJI'" Redundant frame

(D) Compoundtruss

.' . '. - . .
.@ili!D@i:£IT6lj /lirr..., .@6"6l8'6"6lLD!fjIUIf>%6"6l61!T/lim .@ffi!DllLJ6"6lLDlLJrrilii91~@j tD

11 AEC/15
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•
27. A cable of sJ?a~ 'I' and central dip' 'd' is subjected to uniform load 'w' per unit horiwntal

depth. The horiwntal component of tension in the cable is

(A), wi" c6I wi"
4d 8d

(C)
wi"
12d

(D) wi"
16d

. .
'1Y@ 'I' 6f~lD )llL...L~6"Ol!014tb 'd' 6fQrlD LD~ibltiJ ~lD8;/li~6"Ol!014tb Q/lirr6ii'<rL GUL~ibl~ G:LDro 'w' 6fQrlD 81Trr6llT

u~ <!9I6IJ@j8il6"OlLLDL...L~lJ1~ibl!D@j QlftiJrou(!j\8illDl9I. GUL~iblro QlftiJroU(!j\tb 8il6"OlLLDL...L~@6EI6"Ol1f

, wi" wl2
(A) 4d ' (B) 8d

,
(C) (D) 'wi"

-'-
16d

28. Field chanhels are also called,

(A) Supply channels

</If Lateral channels

u rr1f6llTQJrrw /lirr6"Ol6IJ~ 6iJQJ rrlJ)ltb <!9I6"OllJ18;8;rorrtb

(A) QJIT~l9I/lirrroGlJrrw.

(C) U8;/liGlJrrL...Lrr6llTlJirrQJGUrrw

(B) Branch chanpels

(D) Waste channels

(B) 8il6"Ol6TT/lirrro GlJrrw

(D) tLiblIT! /lirrroGUrrw

29. Euler critical load of a member is defined as

rJII' The load which is just sufficient to maintain the column in a deflected shape
(B) The load which is required to collapse the entire column
(C) The load which is required,to create initial crack in the column
(D) The load which is required to split the column into two pieces

~@ tLlJ)IU ~ 8;@j ~w ro IT!~ tLW tiJ 8i6"OlLD~ 6iJGUrrlJ)l.Gu 6"OlITtiJ1J)18;/liUu (!j\8illDl9I

(A) '1Y@ 19JT6llT6lllrT6EIro8;/li ~6llTrouS1ro ~@8;/li 6llTGlJ8;/li~G:j!i6llTGUuu~tb Ili6llTLD

(13) QLDrr~j!i i9f16llT6lllrT14tb.nW.•81tiJ6llTLtiJ QIfWtiJ G:j!i6llTGlJuu@tb 8i6"OlLD

(C) 19J16llOflro19IGU8;/li6EIIT!66"OlQJ6J!DU@~j!i~ Gj!i6llTGUuu@tb Ili6llTLD

(D) 19J16llT6lllrT~1T6ii'<r@ 19I6ii'<r@/li6TTrrIEUt516TT8;~ G:j!i6"OlGlJuu@tb 8i6"OlLD

AEC/15 12



Safeyield which is fhe maxinl1im quantity of water, which can lie supplied during a critical
dry, period is also know,n "as

, .

30.

rM"
(C)

Firm yield

Average yield

(B)

(D)
Secondary yield

Design yield

c
(

~ U lbi5ir 6l5T@JlDL~ ffirrQ)"" fficl16iJ ,<!9Ii5l ffiU L8' ff, if
@6Oli5 G@Jw6lSli5iii5l6iJ .,-"" @J~IPJ <!9I6Ol~8i"'Q) rrLO?. ;. .'

, .
(A) "'wi5l uJ'rr6l5T@J!J),,"@ji56iJ

(C) 8'lJrr8'lfl @J!J)""@5i56iJ
:'; <

I
',~ .- ..." . . ' .'~~'.

(B) @1J.mrrLrrLO ffiLL6uW""@ji56iJ

.(D) '6lJLq.@J";WULj @JW""@ji56iJ
" .. . '.'- .' .."

Length of parabolic cable of span Z and maximum dip 'd' is

'(A)"'>Z,{d
2
" ",". (:8)"' 'Z;.4d2

, •• ',' ' .• ,"".'

. 3Z ill

31.

., i',

8d2
Z+-- .

3Z (D) 16d2 "Z+--.
.31

c.

'0. -
(

1

'32. .For undisturbed saJ;llpling,

;pxcee. ,
.. ' •. 15%.

(C) 30%

the area 'ratio for a thin walled' sampler should not normally

(B) 25% .

(D)" 35%.

/

30%

Q i5rrP;!b1J 6l.j Q 8'lU llJ U U Lrr 15 LO,.mrrLOrr~ rtI G8'ffi rtIU u1ii!Dffirr6l5TQ LO6iJ6I5lllJ 8i@Jif 15l<pLO6irr Q iiirr.mrrL LO.mrr LOiri5l rtl8i
@jwrruSl6irr UIJUUQT6l.j 6lSlffili5LOQurr~@Jrr8i GtP;i5 <!9IQT6lS1!D@jGL06iJ@@8i,$8i8i1"Lrr~?

\

15% . (B) 25%.

(D) , 35%

(A)

(C)
, ,;

13 ....,AECl15
[Turriov~r

" , .....~ ' 'y'
. _\~,:-";;:-=-_,,~~,;;'" : j;';;:-" .•.-? ... '~''''''}'AI~':d''':,.~;:;.' __ '_"~:".

mailto:@1J.mrrLrrLO


33. Consider the following statements:
In subsoil exploration programme the term "significant depth qf exploration'! is upto
1. the width of foundation
2. twice the width of foundation
3. the depth where the additional stress intensity is less than 20% of the overburden

pressure
4. the depth where the additional stress intensity is less than 10% of the overburden

pressure
5. hare;!rock level;

Of these statements
(A) 1, 3 and 5 are correct
(B) 2, 3 and 5 are correct
(C) 1 and 4 are correct
jill" 2 and 4 are correct

1516irr6tJ(!9W&ib!!)l8;1Ii6llm 1Ii(!9~~QJ Qffi,,,;iTIIi:
~<!9 JBlQ)8;.$19 11l6ior~uJ6tJffi a8'ITi"6Il6<f (Yl6lliD~QJ "~uJGlj Q8'uJlU ffi(!9~~Qj QffilT..rrmuuL a6tJ6ior"l-lLl.

I"IT8;ffi(Yl6llLlU~!9l1llT6<fi~t .

1. ffi6llL8;ffilT6lS16irrc!9IffiroW

2. ffi6llL8;ffilT6lS16irrc!9Iffiro~6Ili"U au ITQJ~1J6iorQ;llDLrr,,@)

3. "')iii" ~!9~~QJ &Q;li"QJ 1"6Ilffi6tJ1T6<fi9120% u(5 GJWiDc!9I@~i"~6Il1" G61L8; @)6IliD6tJ1TffiO1L..rrmGi"1T

c!9I)iii"~!9 W 6tJQ) IJ
4. . "')iii" ~!9~~QJ &$'i"QJ l"Q)ffi6tJ1T6<fi9110% u(5 GJ(DiDc!9I@~I"~Q)1" G61L8; @)Q)iD6tIITffiO1L..rrGrrGI"IT

c!9I)iii"~!9 W 6tJQ) IJ

. 5. ffi"l-6<fUUITQ)iD~6irr l1lL.LW 6tJ6Il1J

al1l Wffi.o.TL&W!!)IffiGTllQJ

(A) 1, 3 lDW!!)IW5 ~.$1lU6Il6tJ 8'fiIlUlT6<f&W!!)IIIi..rr

(B) .2, 3 l1lW!!)Iw5 ~.$1lUQ)6tJ 8'fiIlUlT6<f&WID!IIi..rr

(C) 111lWID!w4 ~.$1lUQ)6tJ 8'fiIlUlT,6<f&W!!)Iffi..rr

(D) 2 l1lW!!)Iw4 ~.$1lUQ)6tJ 8'fiIlUlT6<f&WID!ffi..rr

J

•

34. A soil is classified as 'GC' as per Indian Standard Soil Classification System. The percentage
'.offines in the soil is

(A) 0
(C) between 5 and 12

(B) less than 5
!jII' more than 12

~)ii~lU Q8')iii"1J 11l6ior 6tJQ)ffiU UIT@)UITQ;l(YlQ)iDuu"l- ~<!9 11l6iorGmIT6<fi91"GC" ",6irr!!)l 6tJQ)ffiuuQ)l~i"U

uL.Q)l..rrmi91",6lfiIQJc!9Iw11l6iorQlllflQJO1Lrom19I6iori91ffi..rrIliGTll6irrc!9ImGlj8'i".si"~~QJ

(A) 0 (B) 5-W@)w @)6IliD6tJ1Tffi

(C) 5-W@)w 12-W@)w ~Q)L~QJ ' (D) 12-W@)w c!9I~ffil1llTffi

AEC/15 14



35. The soil compacted on the dry side. of optimum has ~_~~~_
cOlnpacted'OInliewet side of optimum.

compared to that

'(A) less permeability a.ndless strength

'(B) less permeability and mor,estrength,

(C) more permeability and less strength,

Ymo~e permeability and mo;{)strength

,
~@I&L6IlLDrr6OT)tr'r ~"''''6U6lSlL "-6Ilr'r6Urr6OT)tr'r ~",6lSldJ ~(lp,slliUUL.L"'.m- LDrr;@rfluSl6irru";';'Ljlli6)Trr6OT~J.

" "'., _. ,
,~@I&L6Ilinrrar )tr'r ~"''''<5u 6lSlL I'F'TLDrr6OT)tr'r ~Grr6lSldJ ~(lp,slliUULL u:i6m LDrr;@rfluSl6irr U.m-~Ili~L6irr

, ~ut51Q;llb C:urri!jJ ------ qJ,Ili @@,s@;tO,

(A) @;"'JD)i;iO "'" Q;\LjIli6lSlL dJ @;6OlffilitOLDWW cD@;ciJJD)i;iO6U615l.., LD

(B) @;"'JD)i;iO ""'Q;\Ljlli6lSlLdJ @;6OlffilitOLDWWtO~;@oji 6U615l6olLD'
" . : . '-. - .

(C) '~~Ili ""'Q;\LjlliGll1LdJ @;6lmTilitOLDWWtO@;6OJJD!i>iO6U615l..,LD,

36. Th,esecond moment of the area of a triangle about is base b, having its height his

(A)
, bh3

24 (B) bh3

4

l
(C) bh3

8
{nJIfII' b.h 3

, 3,6,

i

(B) bh3

4

r
(D) bh3--36

bh3 '

8

(A)

(C)

, ~"fuu,sllitO'b' LDWWtO 'h' "-LU'TtO "-biT,,, (y,,sG:Ilirr6Olff, LJ'Tut516irr, ~"t-UU,slli~;@ro

;@@ULj~;@JD6irr, '

bh3

24

13 15 AEC/15
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'.37. The.width and depth offooting are 2 and 1.5 ni respectively. The water table at the'site is at. . - -

a depth ()f-3m below. the ground leve}. 'The water table coqection factor for the calculation' ... . .
of the bearing capacity of soil is

</0.875 . (B). .1.000'
. /

(C)' 0.925 (D) 0.500

. Sl(l1j 2 i:n .!9I/Eroc!:pgjL..,j /Egjui;/Errrorr..-ri9J 1.5 m ~\llli;~ro l1LGiTroi9J.<'9I6iJ6l5lL.Ii;~ro '~roli;lO"l- J!;rrLOL.L.lO

. ~QlIi;~GOT aLOroLOL.~Ii;~GlSl(l1j)i;i91 3 m ~\llli;~ro ,l1L~roi9J. ~<libT~GOTlOrrrfu@) ~~gj,;M /E6l>bT8;$I(96UIO!b~rr..-r

J!;rrLOL.L.~(I1jIi;IO;;U/Err~...fl .

(A). 0.875.

.(C) 0.925

(B). 1.000

. (Dj 0.500

38. Th~ 'load carrying capacity of a bored pile i~ simd jsabout --~-- times that of a. .
driven 'pile.

(A) 2/3 1;03/4

. ~. 1/2 to 213

(B) more than 5/4

(D) . 3/4 to 5/4

,

L06l>bTGlSlro::gigjrouSi'L.lJUL.(9: gjG\J8;/EUUL.L. @)1i;::gi8;/EW1uSiGOTLlIB IOrrrfu@) .~!D..-rrr..-ri9J: 19I9j\ll8;/EUUL.(9

gj6U8;/EUUL.L. (!Jjfi;::gi8;/EW1uSiGOTtJ.IB ::&rrrfu@)~!Dgj..-ru aurrro -----. LOL.rfu@)~(I1j8;@)tO.

(A) 213c!:p::&ro3/4 6Ugj~

(C) 1/2 CY'::&Gu 2/3 6U~~

39.. . The load carrying capacity of pile depends on

(A) shaft. resistance

~ ..s~~ft and poin~ resistance

(B) 5/4 6l5lL.'<'9I~/EtO

(D) 3/4 c!:p::&ro5/4 6Ugj~

(B) . point resistance

(D) pile .capacity

-
~QlIf.l9IT~GOT c;rgjL.lOrrrfu@)tO ~!DGOTc;rgjlOu Qurr(l1jlf.::gi .!9IgjLO$I!D::gi

. . )" .

(A) ii<libT&oc;r~rru'-1(B) '-1GiTGlfIc;r~rru'-1
...

(e) 1O<libT&oLO!bWltO'-1GiTGlfI.c;r~rru'-1' (D)' ~~If.l9IT<iiOr~!DGOT

.AECI15

•

16



'.

40. A 30 cm diameter pile is depth 10m into a homogeneous consolidated clay deposit. The safe
load when the factor of safety is 2.50, unit cohesion is 40 kN/m2 and adhesion factor is
0.70 is

~ 105.6kN

(B)' 211.2 kN

(C) 215.4 kN

(D) 150.8kN

'ii>(f!j30 cm 6lSlLL(lp6l5lLUJ @)Ii;:1jI""I9IUJ,!GNi9J.'ii>(f!ju"l-l'bibrrGN~(lp""u ULL "Glf1LD6lilrru"l-6lJI'b~Ql 10 m

qj,!JlIi;~JD@)i91615l!Jl""uuG'$I!!J:1jI. "rruy" "rr~~ ,2.50,~6\l@) L5l6l5l_uy 40 kN/m2 LDJD!PILo'ii>LG'l'bibm6l5lLD

"rr~~ 0.70 6ffofiQl ufr:1jl"rruurrGN u~6lJrrGN:1jI,

(A) 105.6kN

(B) 211.2 kN

(C) 215.4 kN

(D) .150.8 kN.

I

41. The total passive earth pressure per metre length against a retaining wall of height 4 m
with backfill of unit weight 20 kN/m3 and angle ofinternal friction 30° will be

(A) 600kN/m

(B) 120'kN/m

(C) 240kN/m

SJ1I' 480kN/m

~(f!j' 4 m 'LUJ~(lp6l5lLUJ ibrrniJ@)8i6lJ~rrGN:1jI20 kN/m3 6fm!!J ~6\l@) 6f6l5lLILjLo 30° 6fm!!J ,,-~rrtiJ6l18;

G"rr_(lpLo "-6I5lLUJ LD6lilrr6l5l_ibrrniJ$I .@(f!jP;ibrrQl, ~l'bibrrniJ@) 8i6lJIT1m ~6\l@) !Bml'b~!D@) QIfUJQlUG'Lo

.@!PI"".@6I5l6\lY6lSl~ @l'bibLo,

(A) 600 kN/m

(B) 120 kN/m

(C) 240 kN/m .

(D) 480 kN/m

17 AEC/15
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~ ~ 10 mg/litre

(D) . 100 - .1000 mg/litre

o - 1 mg/litre

20 - 100 mg/litre

,
The dissolved oxygen level in natural unpolluted waters at normal temperature is found to
be of the range of

(A)

.(C)

42.

,m~ rr~6"T Q6lJUu.@6Ol6lJ",160.@UJ06Ol/liUJirGOTll)rrffiULrr~ ~.,;"-.,,,rIT!dJ ,,-m 6lT/li6Ol~)iJ~ qj,.i>w1£ 6'or~ 6lT6l.j.@)iJ~

.@6OlLQ6lJffiluS1dJ.@('98;@)LD.

(A) 0 - 1 mg/litre

(C) 20 - 100 mg/litre

(B) 1 - 10 mg/litre

(D) 100 - 1000 mg/litre

I' 43.

. '.
Hydraulically equivalent section of two sewers are such that they discharge at same rate
laid on same grade when

<J;JI'" running full (B). running half depth

(C) running quarter depth (D) running three-fourth depth

.@~.,;,,-Gl "rr/li/li6OlL/li6Ol6lT,lliIT!UJdJ"rrir "ll) ll)~ ULjm6lTi9I 61"6'orW ""-lD G6lJ.,;,,-GlQlJ)6'orlDrrdJ, ~ 6Ol6lJ/lim

.$li18;/lirr@llLD61")iJ~.@6Ol6lJuS1dJ~G~ "IT!6lS1dJ.@('98;@)LDGurri91~G~ Q6lJffilu5Gl.@('98;@)LD?

(A)

(C)
CY'(lg6lJi91ll)rr/li~ GlLDGu rri9I

. , ..'

/lirrdJurr/liqj,f9~~dJ ~GlLDGurri91

(B)

(D)
urr~qj,f9~~dJ ~0LD Gurri91

3/4 qj,f9~~dJ ~0LD Gurri91

44. A water,purification works h~ndles'50,000 m3/day of wate~ which needs a cnlorine (Chlorine
demand) of 0.4 mg/l. The residual chlorine after 15 minutes of contact time is 0.2 mg/l, The
chlorine dosage in mg/l is

(A) 0.2 mg/l

(C) 4000 mg/l

(B) 0.8 mg/l

~0.6mg/l'

~('9 ,lliir ffi~~/liIT!ULj qj,6Ol6lJ' 0.4 mg/l @)G6lTrrIT!6'orG~6Ol6lJ"-I6OlLUJ50,000 m3/day ~6lT6l.j ,lli6Ol~

6Ol/liUJrr~$IlDi9I.15 .@u5lLQ~rr0 G)!j~~~0@)U L51lD@),,-m6lT 61"8'"@)G6lTrrIT!6'or~6lT6l.j 0.2 mg/l 61"6liTldJ

@)G6lTrrIT!6'or610Lj~ 6lT6l.jmg/l--6iJ

(A)

(C)
0.2 mg/l

4000 mg/l

(B) 0.8 mg/l

(D) 0.6 mg/l
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45.' Which of the following is '1ot a water borne disease?

(A) Dy~entery

(C) Typhoid '." .
(B) Cholera

'Malaria

46.

.$~e;~L6lJwwm '"~ ,ffiIf!QllTro UIJ6l.jili G:P;ITUJroQl?

(A) 6Uu5IWwu G:UIT.s@)

(C) Q)LUITtiJQ)
,

Match the followirig :

A

(B) e;ITroIJIT'

(D) LOG:roIf!UJIT,

B

•

(a)

(b)

(c)

(d)

Carcinogenic agents
Dust Particles
Odour nuisance

Chronic pulmonary disease
I

1.

2.

3.

4.

Cancer
Respiratory diseases
Eronchitis

Hydrogen sulphide

(b)

2
3
2
1

(c)

4
"4

1

4

(d)

3
2
3
3

.$~B;e;emL6UWQ)!Du Qu~@~~e; :

A,
LjWWG:P;ITQ)UJ~ i9J1emQ)1b .fib U )i;::oLOITQI QUIT@m. 1..(a)

(b)

(c)

(d)

LDITe;~ ~e;me;m

6UIT<!fQ)QI~ Q::OIT)i;iSlJ6l.j

f,IJIT::O191Q) lJuS IJro /fib U )i;::oLOITQI <'ilSl iu IT~

2.

3.

4.

B

LjWW G:P;ITtiJ

di6U IT/f G:p; ITtiJe;m

LOITrriRfoITlG:p;rrtiJ

Q)~LIJ1Jam 6Q)Q)uQ)

I

(a) (b) (c) (d)
(A) 1 2 4. 3

. (B) 1 3 ) 4 '2

(C) 4 2 1 .3
(D) 2 1 4 3

19' AECI15
[Turn over'



47. . The techniques used to remove gaseous pollutants from an effluent stream

(A) Absorption, combustion, filtration

(B) Adsorption, catalytic treatment, scrubbing, centrifugal separation

;fill'Absorption, adsorption, combustion, catalytic treatment

(D). AbsQrption, combustion, scrubbing, catalytic treatment, gravity settling.

8~ Qi 'ii'6<>Lu5l6151(i9)i;i9J ru cl1LD Lbrr1Ji86<>ffiQru cl1Gtu 0 JDU tu Girru@~:'liu u (ij\LbCY'6<>JD

(A) ,,-p5l~if6iJ. 6Tr\1~:'li6iJ.ruLq-8L(i)i:'li6iJ

(B) ..u ~u Lj I'Fn-ULj, 6lIl6<>61ff\kb8;881.$1"6<>if, i9JU Lj~rurr8;@i:'li6iJ, 6<>LDtu6lll6ll8;@iCY'""JDu5l6iJ L5Ir\1~:'li6iJ

(C) ,,-p5l~if6iJ, u~uLj Fl'n-uLj, 6Tr\1~:'li6iJ,6lIl6Ol61ff\kb8;881.$1"6Olif

(D) ,,-p5l ~if6iJ, 6Tr\1~:'li6iJ,i9Ju Lj~rurr 8;@i:'li6iJ, 6lSl6Ol61ff\kb8;881.$1"6Olif, Lj6lll uJn-u Lj uLq-:'li6iJ

48. . If recirculation ratio (RlI) equal to 1, then recirculation factor (F) is.

(A)

(0)
1.0

2.0

(B) 1.5

." 1.65

(A) 1.0

(C) 2.0

(B) 1.5

(D) 1.65

49. In BOD test raw sewage is diluted. to 5%. The oxygen consumption by bacteria during
5 days experiment is 6 mgll. The BOD5 is

(A) 30 mgll

~ 120mgll

(B) 0.3 mgll .

(D) 300 mgll

BOD Gdrr:'li6Ol61ffu5l6iJ u:'li6IlfiLuuLrr:'li 8~Qi )lln- 5% ~ffi6lll0@i Qifp5lQi@i6OlJD8;8UU(i)i.$1JDi9J. 5 JDrrGiT

Gifrr :'li6Ol61ffu5l6iJu rr8;",-r\1tu rr6lll6iJ IDJ8 ~u U LL --'l!>8;6!15l1llGirr~ ffiQi 6 m gil 6T6Ilf16iJBOD 5 GirrLD!5!u Lj

(A)

(C) .

AEC/15

30 mgll

120 mgll.
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(B)
(D)

0.3 mgll

300 mgll
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51. Resistance of aggregate to failure by impact is called

.$61fT ~m6E16irru"l- .$L0LDIT61fTU QUIT(I9L.$""m ~m6lSl0Ul GUIT~ @)r6luL51LL .$61fT ~m6lj Q.$ITOOL

QUL"l-""lU 81r6llU ~m6lj LDmrQJ ~""I9~~8;Q.$IT@rm "--1"6ljUl uooy

G6lJ "" 6IlU U IT0 "--@rm .$6Il"" 6lJ8;@) LDW !D @5~)!jl"" 6Il.$@r 1D6irr!Dif .$ ~ (l98;@)Ul G U IT~, ~ 1"6irr "--!J)Ii51~I" 6irr"" ill
$~8;.$OOL '"""I"u QUIT!J)I~~ LDIT!J)IUl?

AEC/15
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(B) .$"l-61fTLDIT8;.$QJ(Hardening)

(D) "--(196lJ LDITW!DUl(Texture modification)

. (B) Tenacity

(D) Soundness

21

,ffiIT/ 81uSh':.-,'l_ ~ m"" 6lJU QUIT!J)I~~ GID~"l-lUIT.$

81u5lL"l- u"""u5i6irr ,ffiITUY~I"6irr""LD QUIT!J)I~~ GID~"l-lUIT.$

1llQJ6151u5i6irri51!D""61fTUQ U IT!J)I~~ '" i51ITtD""!DlUIT.$

,ffiIT/ 81u5lL"l- ~m",,6lJU Q UIT!J)I~~ 6Ti51ITLD""!DlUIT.$. .

U(I9LD61fTIT8;.$Ul(Bulking)

u5l(l9~6lJ IT8;.$Ul (Softening)

(A) Hardness

~ Toughness

(A)

(B)

(C)

(D)

(A)

(C)

Ii>IT8;.$~i5161fTITQJ 1llQJ6151u5i6irr"--(I98;@)",,6Il",,6lJ1"0 U U~

. (A) .$"l-61fT~I"6irr""LD(Hardness) (B) 6EiLITuL51"l- (Tenacity)

(C) 6lJ615I""LDlUIT61fT(Toughness) (D) "--!J)Ii51~1"6irr""LD (Soundness)

50. The other conditions being equal, f?r workable mixes, the strength of concrete varies as

(A) a direct function of water/cement ratio

(B) a direct function of dilution of cement paste

(C) an inverse function of strength of coarse aggregate

JJi'!"* ali.inverse function of water/cement ratio

52. In case of volume batchin~ a smaller mass of sand occupying the fixed volume of the
measuring boxis due to which of the followingeffect?

Jill' Bulking (B) Hardening

(C) Softening (D) Texture modification



53',' Which type of formwork is more economical for tall structure constructions?

(A) Flex system formwork

(B) Wall/column formwork

(C) Heavy duty tower system

~ Climbing formwork

"-W ~ LDIT61lTffiLGi LDIT61lTU u.""f] 8;@j '"Ii> i'i 6lJ ffiffi W IT61lT(lp L Gi 8; Q ffi ITGi ~i'i ciJu51 ffiGli ill 518;ffi61lTln IT61lT191?

(A) 6lJ 61lTffi(lp 61lT!DffiL GiLD IT'" <&I61lTLDU '-1

(B) .'ffi6lJ r'r/ i9J1oo ffiLGiLDIT61lT <&I61lTLDU '-1

(C) ffi"l-61lT~i!iI !DGirr <&I ~00 ffiL GiLD IT61lT<&I61lTLDU '-1

(D) Qi'iIT0rD1 GJ!D~i'i8;ffi ffiLGi LDIT'" "",!61lTLDU'-1

54. If the compaction factor is 0.95, the workability of concrete is

,

(A)

(C)

very low

medium

(B) low

~high"

(A) u51ffi8; @j61lT!DGli

. (C) )!iGi~i'i~Lb,

(B) @j61lT!DGli

(D) <&Ii!iIffiLb

55. For good performance of a construction joint, the material used 'between the old and new
concrete surfaces is

(A) . a welded wire fabric

(C) synthetic resins

(B) synthetic fibres

~ a polymer bonding agent

ffi LGiLD IT'" ~ 61lTOO'U L5lGirr )!i ciJ 6Il Q 8'W roi!il !D.,\10@j U 61lTW W LD0w ill '-1i!iIW ffi0 ffi IT61lT~uSlGirr c:LD0 U 8;ffi ill ~ Ii>i'i

QUIT(IljQr uwGirruGi~i'iuuGi.$1!Di9I.

(A)

(C)

AEC/15

ffiITuJ,,51 <&I "l-8;ffiUULL ffiillL5l ~61lTW

Q 8'W 0 61lTffiW IT'" L5l5lGirr
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(B) Q8'W061lTffiWIT'" ~61lTWffiQr

(D) UciJU"l-LD ~LGiU QUIT(IljQr



. ' .

. 56. The transverse reinforcem'ent to be provided at the top .of the slab,. over the full effective
width of flanged beam should not be less than

(A) 40 percentage of main steel at mid span of the beam

(B) 50 percentage of main steel at mid span of the beam
. .y 60 percentage of main steel at mid span of the beam

(1) 70 percentage of main steel at mid span of the beam'

615lffihbLjU UL.Q)L .p1L.L~~~ QLDIT~ibuUJ@Jl!)I ~lhQ)~~)iJ@)tb CLDro i2....lrrGlTuQ)Ih~i5l~ CLD)iJLj!D@)l!)I8;@)

6lJ~@;bL."l-Ih61l1~ <!9lGlTGlj!@ib!D@)8;@)Q)!D6lJITIh!@<!98;Ih8;.8ll.LIT::9I:' -

(A) 615l~L~~~ LD~~UJ )llL.Lji;~ro i2...GiTGlT(1Jlib~Q)LD.",,:.8ilro 40 lfibGUibtb

(B) 615lL.L~~~ LD~~UJ ~L."':~~ro i2...GiTGlT(1Jlib6O-rQ)LD",,:.8ilro 50 lfiI>GUibi:o

(C)" 615lL.L~~~ LDji;~UJ)llL.L~~ro fLGiTGlT(1Jlib"'6OlLD",,:;8ilro 60 lfiI>GUiI>tb

(1). 615lL.Lji;~'" LD~~W )llL.L~~ro i2...GiTGlT(1Jlib"'6OlLD",,:.8ilro 70 lfibGUiI>tb

..

57. When the bending moment at the section changes its sign, 'as may occur in the span of a
continuous b.eamwith'moving loads in a bridge.girder~ the type of reinforcement required at
that section will be

IJII" compression reinforcement

. (B) tension reinforcement

(C) vertical stirrups

(1). side face reinforcement
~ .

f
Sl<!9 Q6lJL.(i) (1Jl1h~~ro QlfUJroU(i)tb ~<!9ULj6OlLD<!9libm. @)W1uJL.6OlLLDIT)iJW160Trrro.<!9libIT6lJ::9ISl<!9 uli'Q)~~~

i2...~ib~~~roi2...GiTGlTQiI>ITLir615lL.L~~ro P;1h<!9tb I£6OlLD!@('1j8;@)tbCUIT::9IP;6OlLQUl!)I6lJ::9ICUITro. <!9lIBiI>.Q~L.(i)

(1Jl1h~~ro CiI>6Ol6lJUU(i)tb6lJ~@;bL.(i)8; Ihtbt.S1u51",GuQ)1h

(A) <!9l(1Jl8;1h6lJ~@;bL."l-IhGiT

(B) !@@615lQ)lf6lJ~@;bL."l-IhGiT

(C) Cp;irai@)~~ <!9l"l-8;QlhlT<s615lIhGiT.

(1) U8;lh6lJITL.(i)(1Jl1h6lJ~@;bL."l-IhGiT

..
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58. The critical section for punching shear in an isolated pad footing of effective depth d will be
located at

(A)

(B)

(D)

the face of the column itself

d distance alround from the face of column

d distance alround from,the face of column
2 '

2 d' distance alround from the face of column

UlUWJ1))I ~WtD 'd' QI£ITdlrrL i!'6IlT1lUIT6Of:@LGi I£6OfLffiI£IT61SIci:>@I6OfffiULj "1))IffiI£WffiI£IT6Ofi!LuJlU )1I6Of6\lQGUL(D

(lp 1£tD @ ffiJ@jc'9I6OftD)ii:@(fljffi@jtD

(A) @lT6Ollf1om(lpI£GtD •

(B) ,@lT6Ollf1om(lp1£~6Ofi!''' a;0rDl' d' GTomf!)@IT~~:@ci:>

(C) @lT6Ollf1om,(lp1£~6Ofi!'''a;0rDl '~' GTomf!)@IT~~:@ci:>

(D) @lT6Ollf1om(lp1£~6Ofi!''' a;0rDl '2 d ' GTomf!)@IT~~:@ci:>

59. The modular ratio for M 35 grade of concrete is

JI'f 8.11 (B) 9.33

(C) 10.98 (D) 13.33

\e,

M '35 GlJ6Of1£1£0I£IT6Of~u5lomloLGi GlSlffili!'tD

(A) 8.11 (B) 9.33

(C) 10,98 (D) 13.33

60. Which type of beam section among the followingwill fail in a catastrophic manner?

"(A) Balanced section (B) , Doubly reinforced section

~ Over-reinforc~d section" (D) Under-reinforced section

ffiWffil£dlrrLGlJ (1))1ffi GT)iii!'GlSlLLtD ITGl>!@I Q U(flj tD ~U~6Of~ GlSl6OfffiGlSlffi@jtDGlJ6Of1£u5lci:>GlJ~ GlSlW,sffilf!)@I?

(A) "tDom Q"uJlUUULL u@;:@ (B) @(fljU,sl£tD GlJ~~LLUULL u@i:@

, eC) c'9I:@l£tDITI£GlJ~~LLUULL U@j:@ (D) @i6Off!)GlJITI£GlJ~~LLUULL u@i:@

,
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.61. . The maximum effective slenderness ratio 'of a member which is always in tension (o~her
than pretensioned member). is .
(A) 180
(C) 350

(B) 250

Y400

~@ 6l5lGmIf<6lro 'c;ruCUIT~tD llLc;ITQT~(!Ij '.i.ll)IutSlQT (QP6il!Qli!i1T1£ ~@ 6l5lGmIf8;@i llLLU(i)l~i!iUULL llLll)IULj

. i!i6l5lIJ) ~~B!ULIF uUJ@J1l)I QLDrol6l.l 6l5lilili!itb .' .

. (A)' 180 (B) 250
(C)' 350 (D) 400

62. The minimum number of battens in a built up column is
(A) 2

~4

(A) 2

(C) 4

, . (B) 3

(D)' 5

(B) 3

(D) 5 •
63. A roof truss has to carry snow loads in addition to wind loads. Which among the following

pitch values is said to be economical? ~
W W _lU
(C) 1/5. (D) 1/6

~@ 8i>.Q"lIJ.;s,QT llL~:$lIJLDITQI~ I£lTlDll)IU U(5~LQT u6Nlu U(5Q"l6UlJ..Itb i!ilTrliJl£ C6UGilrrLq.lJ..Ic;ITQT~. £CW'

QI£IT(i)lIi;I£UUL(i)lc;ITQT6U!DIl)Ic;ITc;r)i;i!i8i>.Q"l1J6IfrTl6l.l.81Ii;I£QlLDirQl~?

(A) 1/3 (B) 1/4

(C) 1/5 (D) 1/6

, .

64.
".

Theyttern of actual shear.stress distribution across the depth of a bea~
(A'" varies parabolically . . (B) varies cubically
(C) varies linearly (D) has no variation of ordinates

6l5lLL~:$lQT ~w~:$lQT @ilPJli;C/£lJ..Ic;ITQTllLGilrrQ"lLDUJITQllflPJli;@i~i!iQ"lI£6l.l6l5l1J6UrolQT GuLq.6Utb

(A) UIJ6UGmQTUJtD'CUlTro LDlTlPJ6;)!D~(B) I£QI ~lJtD dUlTro LDITIl)I6;)!D~ .

(q ~(!IjuLq.1i; CI£IT(i)l CUlTro LDlTlPJ6;)!D~ (D) ~6e.U Ljc;IT61fI1£c;ITLDIT!D!Dtb~Q"lL6U:$lroQ"l6U
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65. In prestressed concrete, for post. tensioned members, the mInImUm28 days compressive
strength of concrete prescribed in IS 1343 is
(A) 25MPa (wi'30MPa
(C) 35MPa (D) 40MPa

(lIlGirr i".-o>ffi~L.LU u LL ffirDffirT.-o>i)u5lGil, L51Girr !i2)@.-o>@JUU(!;\;'ti"UULL "-!!JI U L51rD@Ii, IS 1343-Gil
@Ii!D1U L51LU U L(!;\ cirm ffirDffirT.-o>i)u5lGirr@Ii.-o>JD)iJ i" U L" 28 )lj rTcir<!!>I(lIl8;ffi;'t i5IJDGirr"

. (A) 25MPa (B) 30MPa
(C) 35MPa (D) 40MPa

I

66. A masonry chimney is of hollow circular section with height to outer diameter ratio of 5.
ASJiPr IS 875 -1987, the force coefficient for the wind force calculation is .'
~ 0.8 ~) 0.9 .

(C) 1.0 (D) 1.2

0'('9 QffirTlii~ G:@J.-o>Q)Lj.-o>ffiG:UrT8;$IUJrT..-r~ 5 .-rGirrJD"-UJi)W LDrD!!JIwQruGTflULjJD 61SlLL;'ti51rDffirT..-r 61Sl$li";'t.-o>i"8;
QffirTOOL ,,-cirmLrDJD @JLL @J,,!-@JW QffirTOOL~. IS 875-1987-Girr U,,!- ffirTrD!!JI61Sl.-o>".-o>UJ8;ffim8;$IL
.-r(!;\;'t~8;QffirTcirmuUL G:@Joo,,!-UJ 61Sl.-o>".;;@limffiw

(A)

(C)
0.8
1.0

. (B) 0.9

(D) 1.2

(B)

CD)

67. An equal angl~ isto be connected to a gusset plate by fillet welds,~elded longitud,inallyat
top and bottom of the angle. The tensile load acts along the centroidal axis ofthe angle. The
length of weld required at the horizontal leg of the angle is 1" The length of weld required
at top is 12, Which among the. followingi~correc~

(A) ~ = 12 .' (TJr ~ > 12

(C) ~ < 12 (D) 12 = a

0'('9 "LDLDrT..-r 'L' "LLLDrT..-r~ L51"!-LDrT..-r;'ti"L(!;\LGirr LD@8;ffiUULL UrDJD .-o>@JULj (ljlQ)W. 'L' "LL;'ti51Girr .
G:LDGil LDrD!!JIW <!!>I,,!-UU@lii51u5lGil iDm@JrT8;$IGil UrDJD.-o>@J8;ffiUU(!;\$IJD~. 'L' "LL;'ti51Girr .-o>LDUJ <!!>I",~Gil'
!i2)@61Sl.-o>" Q"UJGilu(!;\$IJD~. 'L' "LL;'ti51~ $I.-o>L8;ffirT.-o>Q)urDJD .-o>@J8;ffiG:i".-o>@Juu(!;\w urDJD .-o>@JuL51Girr.
iDmw '1,'. G:LDG:Q) urDJD .-o>@J8;ffi G:i".-o>@Juu(!;\w urDJD .-o>@JuL51GirriDmw' I;. gW8;ffiOOL@JrD!!JIcir .-r~

8'rTlUJrT..-r~?

(A) ~=12
(C) ~ < 12
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68. . A retarding basin type of floodcontrol reservoir is the one which is provided with

Jill"" Uncontrolled outlets and spillway

(B) Uncontrolled outlets but controlled spillway

(C) Controlled outlets but uncontrolled spillway,
(D) Controlled outlets and spillway

ff,ir G:iD8;$:i>!5ImQru m6TTUQU ('lj8;~$ LDLQj\U u Qj\:i>iD ~Qj\U L.jff,mru LL $rr6iJru rflU ru ~$~ lLJ.$lP$..mrLru!D r516iJ
6fiD@lLm im~_8;$G:ru..mrQj\W?

. (A) $LQj\UUQj\:i>wuuLrriD QruffilGufTlu LD!D!J)Iw$<I51rfu$GiJ

(B) $LQj\ UU Qj\:i>iDuuLrriD QruffilrurrliJ qf,6l5Trr6iJ$LQj\ U u Qj\:i>iDuU LL $<I51rfu$6iJ

(C) $LQj\U uQj\:i>iDuULL Qruffilru rrliJqf,6l5TrrGiJ$LQj\ UU Qj\:i>iDuULrr iD $<151rfu$6iJ

(D) $LQj\ UU Qj\:i>iDuULL Q ru ffilru rrliJ LD!D!J)IW $Qsl rfu",GiJ

69. The.pattern of shear stress distribution across a circular beam cross section is

(A) Straight ~arabolic

(C) Elliptic (D) Hyperbolic

ruLL rul!j-ru "-:i>!5I~:i>!5Im@i!J)l8;$rr$ QlflLJGiJUQj\WQruLQj\ ,,-m61S1~If u~6l.jiD<I51m urrrfu@i

(A) G:p;irG:",rrLQj\ u~ru6iJ (B) U~ru~6TTlLJW

(C) ff,mruLLw (D) LEru~6TTlLJW

70. In a CU test, the diameter of Mohr Circle for total stresses at incipient failure conditio~ is
200 kPa to a scale. If the pore pressure at failure is 50 kPa, the diameter ofMohr Circle for
effective stresses at failure drawn to the same scale is equal to

(A) 150kPa ~OO kPa

(C) 250 kPa (D) 300 kPa

~('lj 'CU' G:lfrriD~6l5TeY'ruw QUfDUULL iD~6l.j$~6TT8; Q$rr6liMQj\ ru~~lLJUULL G:LDrrrflm QLDrr:i>iD:i>iD~$6l.j
ruLL:i>!5Im 61S1LLW ~('lj ~6TT6l.jG:$rr<l516iJ200 kPa qf,@iw. ru@.ll61S1W8;@iw'G:urrijjJ Lj~~ff,ir ~~:i>iDw
50 kPa 6f6llll6iJ. ru@.ll61S1W8;@iw~~ru8;@i ~G:iD ~6TT6l.j G:$rr<l516iJru~~WUULL G:l1)rrrflm UlLJ@I!J)I iD~$6lj
ruLL:i>!5Im 61S1LLW

(A)

(C)
150kPa

250 kPa
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(B) 200kPa

(D) 300 kPa
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7L Which one of the following is a flexible outlet?
(A) Submerged pipe outlet
~ Kennedy's gauge outlet
(C) Gibb's outlet
(D) Open flume outlet

£~8;ffi61irrLQJ0JJ5l6J '"191 @6l5OT8;ffiLDrr6lITQJ"t-ffirr6J?

(A) (Yl~ffi"t-8;ffiUULL @jiJimiJ QJ"t-ffirr6J

(B). Qffi6Mm"t-W16'lLUJ ~lbi5QJ "t-ffirr6J

(C) £luw QJ"l.ffirr6J

(D) rE1JD)i;i5iDn-QJ~", Q"'WlbI91 QJ"t-ffirr6J

72. The 4 hr unit hydrograph of a basin can be approximated. as a triangle with a base period of .
48 hour and peak ordinate of 200 m3/s. Then the area of the basin is
(A) 864 Km2 ~ 1728Km2
(C) 3456Km2 (D) 5184 Km2

1728Km~
5i84.Km2

(B)

(D)

iDffiQJL'--.c ffirr6JQJrrUJffi@j 4 LD.",fl G)D~. <!9I6\)@j iDrflUJ6J <!9I6'lLDGl.j QJ6'l~Gl.j C'P8;Gffirr6l5OTwrrffi
<!91WI LDrr6lll18;ffiuU (5\£l!Di9J' <!9Ii5W16'l LUJ <!91"t-G)D~tD 48 LD.",fl G)D~LDrrffiGl.jtD LD0!J)1tD "--"'''' <!9Im6l1(5\ 200. tIl' / 6IiI
<Or6llI16J <!9I)i;i5 ffirr6J.,J rru516MU ~u 6'l U 8; ffirr61irrffi.

(A) 864 Kill2

(C). 3456Km2

.73. In the channel flood routing by Muskingum method, the values of the routing coefficients
Co and C, are estimated as -0.2 and 0.5 respectively. The value of third coefficient
C2wouldbe
(A) . -0.5

(C) 0.3

(B) 0.2

c;. 0.7

C'Pw£l rfuffitD C'P6'l!D~6J ~(!lj ffin:6JQJmiJ QQJffimu QU (!lj8;6'lffi QJ ~ U U (5\lbi9JtD Gu rr191, QJ~ U u (5\lbi9JtD
. @j__ ffirfuffimrr6lIT Co LD0!J)1tD C, C'P6'l!DGUJ -O.~ LD0!J)1tD 0.5 <Or6M!J)Iffi6l5OT8;£lLuuL{b\ffiffii9J. (yl6M!DrrtD

@j6l5OTffiLDrr£lUJC.- 6MLDrE1u 6'l U ffirr61irrffi.

(A) -0.5

(C) 0.3

(B) 0.2

(D) q.7
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74. Leaching is a process by which

(A) Water is excessively pumJed from a water logged area

",. .Excess salt in the soil pushed down by standing water above the soil
(C) Improving the soil,structure 'and texture by adding suitable chemicals

(D) Sodium ions are removed from Irrigation water

-w Q)6U~i91 pj8;@)IDQl(Yl""W 6T.orUi91 •

(A) . ff,rr alDffiJ@)t.O.@L~ibl6l\1(f!)P;i91~ibla;uutq.lUrra; ff,a~!DWt.OQ6uJIDQl .

(B) LD6lirr6liOfl@»oiTm~ibla;uutq.lUrr"" iLumu LD6lirr6liOfl.oraLDGiJff,rr alD8;a; Q)6U~IBI.$a!9lDoiT\5:i;Ql

(C) LD6lirr6liOfl.or~""LDULj LD!D!!)Jt.O~(!;l8;ma; Gurr(f!)~IDLDrr"" .@~6rrlU"" (y>6\lLDrra;~t5lG61(f!)~i5l Q6uJIDGiJ

(D) .u rr66l>TpjITIQl iLoiTm a6rr.q.lU t.O~ lU60ft"" lU pj8;@)IDQl

•

75. . The characteristic feature of a barrage is

(A) provision of raised crest.

(B) creation of storage 'reservoir on DIS

~ provision of series of gates across the river
(D) that is built in deltas areas only

~@p;ibluSlGiJa;LLuuL(!;loiTm~m_ aurr.orw a;L(!;lLDrr""~i5l.or (YlYlU ~t.06t.O

(A) iLlUrr~lDuuLL aLDQlLDLL~mlD iL6lirr(!;l u6lirrWlIDQl

(B)' aLDQlLDLL~iblQl pjiJ:alD8;a;~""1D ~(f!)6Urr8;@)IDGiJ

(C) ~!Dr6l.or @)!!)J8;aa;QlDrrLrr661lUrra; ID(!;lULj6UrruSl.ua;""m ~""LD~IDQl

(D) GLQlLrr u~ut5lQi LDL(!;lt.Oa;LLuu(!;l6U~

.'

••

76. The velocity of drainage water in syphon aqueduct is normally limited to
(A) 1 to 2 mls , 2 to 3 mls

(C) 3 to 4 mls (D) 4 to 5 mls

aLDQ6\l@t.OLjt.O 6UrruJ8;a;rrQl Urr6\l~iblQl6Utq.ff,ITI.or ~""~6Ua;t.O 6TIDW@!oiT~LffiJ8; a6U6lirr(!;l'!'?

(A) .1 to 2 mls (B) 2 to 3 mls .

(C) 3 to 4.m/s (D) 4 to 5 mls
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77. For higher silt carrying capacity, the lined canal section should be

(A) trapezoidal

. ~ circular

(B) rectangular

(D) horse shoe

,
.&I~ffiUU"l-llJIT6l5T QJOOUU 6f(i)i~@1 Q5-u@JLb ~!D6O\I-uldo5UULL ffiIT-UQJITu5IGNQQJL(i)i QJ"l-QJLb 6fruQJITjDITffi

,@(flj8;ffi G:QJoo(i)iLb?

(A) 5r\1QJffiLb

(C). QJLLLb

(B) Q5ruQJffiW

(D) @5~",,1JruITL .&I60llDUL1

78. The side slope, generally adopted for a trapezoidal surface drain in alluvial soil is

(A) 0.5 : 1 gJJ!"1 : 1

(C) 2 : 1 (D) 3: 1

(A)

(C)
0.5: 1

2: 1

(B) . 1: 1

(D) 3: 1

79. The s$'ilmoisture which is usef1.\lfor plant's growth is

(A) Gravity water

.fJI". Capillary water
(C) Hygroscopicwater

(D) Chemicalwater

(A) Lj615lR'rTuL1ff,rT

(B) ~P;@I8;l ff,~

(C). £!J>C:)liIT8;8;l.&l@~@ILb ~oo.mrT

(D) G:QJ~u5IllJ-U i!ioo~rT

I
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80. Capacity of a 3.75 metre traffic lane is
(A)

(C)
1200PCU

1500PCU
(B) 3000 PCU

IiJi!I' 1000PCU

3000 PCU

1000PCU

3.75 L1i~/l;6Il(YlGfrm 8'rr615l6llu516irr C:u rr8;@i6lJlJi5i91 %I!D6irr ----_

(A) 1200PCU (B)

(C) 1500PCU (D)

81. The main cause of ro.adaccident in India is due to
(A) vehicle brake failure

(B) improper geometric design

~ speed violation

(D) uneven pavement surface characteristics

@Pi%lLUrr6lSl6iJ 8'rr 615l6ll6lSl u 15%1!D/l; rr61lTLS11Ji!' rr61lT/l; rrlJ 60llfl ?

(A) 6lJ rr/l;61lTi5%16irr LS1C:IJ 8; u@i9I

(B). 8'IT!LUrr61lT8'rr615l6ll 6lJ tq-6lJ 615lLDU LS16irr615lLD

(C) ~%lC:6lJ/l;LO

(D) 8'rr615l6llu516irr C:LD(5i UGfrmniJ/l;Gfr

82. The purpose of a 'median' is to eliminate

JJIf' Head on collision
(B) Side swipe.

(C) Rear end collision

(D) Nose to tail collision

8'rr 615l6llU LS1IT!6lSl!D/l; rr61lT@615lLU U ~615l Lu5I6irr c:J!irr8;/l;LO
(A) C:J!iQlj",;,@i C:J!ir'r C:LDrri!'615l6ll i!'6lSlr'r.s/l;

(B) U8;/l;6lJ rrL(5i C:LDrri!'615l6lli5 i!'6lSl r'r8;/l;

(C) LS16irrU!DLO@tq-i5i!'615l6ll i!'6lSlr'r.s/l;

(D) (Yl6irr@lLO LS16irr@lLO@tq-i5i!'615l6lli!'6lSlr'r.s/l;
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83. The disadvantage of 'Diamond junction" is

(A) Two parallel roads are required

(B) Two crossing angles are required

(C) Two over bridges are required

rJII" No provision for easy right turn

,GOlLLD 6irrL' GlJGOlffiIf)!; ~ U '-I8;@iGiT6IT iBIU )!;::OGOl""

(A) ~ Q'j ~ Q" OO"lU IT60TIf ITGOl6llffiGiTG:::oGOlGlJ

(B) ~Q'j @i!PI8;@iGlJLL UITGOlffiffiGiTG:::O""GlJ'

(C) ~ Q'j. G:LDtb U IT6ll n'J ffiGiTG:::OGOlGlJ

(D) 6lJ6lli91'-llDLDITffi ~Q'jLb~ ~GOlL

84. For the most effective traffic control, adopt

(A) More number of traffic signs

(B) More varieties of traffic signs

~ Limited number of traffic signs

(D) Less number of informatory signS

If rTlUJ IT60TGlJ'" ffiu51Gil If ITGOl6llU G:U IT8;@i 6lJ ~~GOl::OffiL (5\ u U (5\~i9IGlJ::O!D @i

(A) Q UQ'jLD6IT6l.j G:u ITS;@iGlJ~~i9lIfu518;6OlffiffiGOl6IT uUJ6irru (5\~i9I::oGil

(B) ~::O~::OLDIT6OT 1fu518;GOlffiffiGOl6ITuu..i6irru(5\~i9I::oGil

. (C) @iGOllDGlJIT6OT"u518;GOlffiffiGOl6ITU lU6irrU(5\~i9I::oGil

(D) .@iGOllDGlJIT6OT::OffiGlJGil1fu518;6OlffiffiGOl6ITU UJ6irru (5\~i9I::oGil

85. Rlicommended value of camber for a WBM road in heavy rainfall area is,
(A) 1 in 50 (B) 1 in 60

(C) 1 in 40. fJIIf' lin 33

1 in 60

1 in 33

(B)

(D)

<!9I~ffiLDIT6OT tJ)6Ol~uu@i~u51Gil )!jfn5l6Ol00"if IfIT6Ol6llffi~8;@i U rTl)!;i9I6Ol~8;ffiuu(5\ Lb @i!PI8;@i ~GOlIf IfITuJ~6irr

LD~U'-l

(A) 1 in 50

(C) 1 in 40
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86. Formula for length of the transition curve on a road way.is

.(A) L. = 2V2 fCR (B) L, = 0.5 V2 fCR

(C) L. = 0.03 V3.fCR ~ L = 0.0215 V
3

J1'J .' CR

@6IDL)£l6ID6\)6lJ6IDGTT6lSl6OT~GTT{f,6IDfJiIn"'" 8;.$lL UUJ60TUG\{f,fJiuU (~hi:>@;{f,~ 'ltD

(A) L, = 2 V2 f CR (B) L, = 0.5 v2 feR

v3
(C). L. = 0.03 v3 f CR (D) . L, = 0.0215 CR

..

'87. For a good ,highway drainage,
preferably is
(A) 0.30 m

(C) 0.90 m

the highest level of ground water table. below subgrade,

(B) 0.60 m

;PI' 1.20 m

. 6fT6ID6\) U 'IfTtDlfiU tSl.u
a6lJQi,,-G\tD.

(A) 0.30 tIl

(C) 0.90 tIl
. (B) 0.60 tIl
(D) 1.20 tIl . •

88. Seal coat in highway maintenance comes under
~ routine m'aintenance'
(B) rehabilitation and strengthening
(C) periodic maintenance

- (D) strengthening

6fT6IDQ)u'IfTtDlfiutSl.u .UfT~lnfTuy ULQ)tD <>r6OTU~<>r)iii5i5QlQ)ut51.u 6lJ<!9.$l!D~?

(A) 6lJW8;lntDlT6<Tu'IlTtDlfiuy u...rrl

(B) 6iru G\{f,~fJiQ) tD!D(1)ItD lL(1)I~'::'YG\{f,~i5.u

(C) c91LL6lJ6ID...,.UUG\{!;i5U'ULL u'IlTtDlfiuy

(D) lLlJ)IiIiluuG\{f,~i5.u
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89. The pre stress is induced in the cross section of a pretensioned prestressed concrete member
due to the

c/ bond between tendons and concrete

(B) end anchor bolts

(C) end anchor plates

(D) bond stress and anchor plate.

C'P"" .@ ~ U Lj C'P"" i561ll/li611 /liJD/li fT6Illlf !!L!'JIU L5l"" @)!'JI8;@) Q6lJ Lllj-GiJ, C'P"" i561ll/li6l1 19ITOO"LU U ib' 6lJ 191,
(A) i561ll/f )1ifT00"/li~8; @)U:>/liJD/lifT6Illlf8;@)U:>.@6IllLC:LULUfT61H L5l6lll6mLn ..j

(B). )1irfJ&elf LD6IlllfLUfT61lllf1iJ}I6llfIu51GiJ

(C) )1irfJ&elf 15L ib' iJ}I6llfIu51GiJ

(D) L516Ill6muLji561ll/li6l1LDJD!'JIU:> )1irfJlfulf i5Lib'

I

i
.1

1

90. The corrected length of a runway 2075-mafter applying correction for gradient is

(A) 2101m

.~ 2179m

(B) 2169 m

(D) 2189 m

I
iffTW6l18;/lifT.s/frTIuib'iJ;i50ULL 2075 Ji )1~C'PciTGlT ~ib'i5~il5I"" /frTILUfT6Ill')1GlTU:>

(A) 2101 Ji (B) 2169 Ji

(C). 2179 Ji(D) 2189 Ji

91. The order of funding for Inland Water Transport (IWT) m eighth five year plan for
modernisation is

(A)

(C)
250 crore

190crore

(B) 150crore

rJIIf' 200 crore:

!!LciT)1ifTLib' )1 iT 6lJ ~ U c:U fT8;@)6lJlfiJ;6Illi5 )1i'"" 6Ill'U U GliJ;i5 8- 6lJ i!jJ 1B)i;i5 fT00"ib' il5ILLiJ;il5IGiJ ~i!jJ8;iJ; ~ U LL Q15fT6Ill/li

(A) 250 C:/lifTllj- (B) 150 C:/lifTllj-

(C) 190 C:8ifTllj- (D) 200 C:8ifTi<j.
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,
92. Runway orientation (alignment) should be strictly'

(A) . parallel to a main highway in the locality

(B) no need to bother about highway alignment

(C) perpendicular to highway

~neither parallel nor perpendicular but slightly inclined to highway alignment

W'0 UrrGIDI"u516N ~GIDlftlJGIDLllGlj iBIBolftlJLllrrffi@ruGlJrrw @(f1j8;ffiC:GlJoo0Lb

(A) c'9I U U @j~ u516\J ,"-mffi CY'1"6NGIDLllQ)!i 0@5lfrrGID6ll8;@j @GIDOOtlJrrffi

(C) Q)!i0@5lfrrGID6ll8;@jBo QlfffiJ@jli>l"rrffi

(D)Q)!i 0 @5lfrrGID6ll ~ GID~tlJGIDLll61S10@j @GID_tlJrrffiGljlb @6\J6llrrLll6\J QlfffiJ@jli>l"rrffiGljLb @6\J6llrrLll6\J il'l!61I"ffiGlj

93. Out of the four types of gradients for laying railway tracks, which is STEEPEST?

(A) Ruling Gradient

(B) Momentum Gradient

~ Pushin~ Gradient'

(D) Station yard Gradient .

(A) U ~UUGIDLll IfIT1Glj

(B) '"-liiI"BoIfIT1Glj

(C) I"m(@!)i IfIT1Glj

(D) iBIGID6lltlJ '-i!D8;ffiGIDL IfIT1Glj
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94. The wooden or rubber poles or poles placed in front of docks or wheel, to prevent damage to
ship side while mooring they are called as

ItIl!" Fenders (B) Moorings

(C) Bulk heads (D) Dolphins

I£UUro !9JrnjD(Yll£lii~ro l£uurnQ) ""'~!J)ILD GUrT!9J ~~~ U';'I£6lJrTL"rro GJ)!JU(j)LD GIf~rTr;rliirn~1ii ~6lSlrT';'l£
~liii9JrnfDu5lro rn6lJ';'l£uuL(j)ciTm LDr;r~roQ)!9J !mr;rUUrT QP;L(j),;, @J,,51l£ciT!m6U6lJrT!J)I~6my:>';'I£UU(j)$1jDi9J

(A)

(C)
~(j)ULj';' I£rTULjl£ciT

/liUuQ)rnjDlii ~(j) U Lj

(B) ""'~!J)I Gl£rTrol£ciT

(D) p;ffiJ""-r;r[51Q)Iii&floo

95. If the earliest start of the successor is 43 and the earliest start of activity considered is 36.
Determine its free float if its duration is 2

(A)

(C)
43
7

(B) 41"5
'ijl(i9 QIfUJ6I5I~ I£rTQ)LD2 LD)!J!J)ILD~"QIfUJ6I5I~ 1f,;,$1r;rLDrT61lTi9J6lJ';'/liLD 36, GLD@IILD~~~ Q~rTLrT QIfUJ6I5I~
. 1f,;,$1r;ruirT61lTi9J6lJ';'I£LD43 .,-6llrIro ~"QIfUJ6I5I~ I£L"rroQ)rT uSl~uLj

(A)

(C)
43

7

(B) 41

(D) 5

96. If to' t
p
and tm are the optimistic, pessimistic and most likely time estimates of an activity..

respectively, the expected time 't' of the activity will be

(A)

(C)

'ijl(i9 Qlfw61S1~ IfrT~I£LDrT6OT,UrT~I£LDrT61lTLD)!J!J)ILDuSll£GljLD p;6mL(YlrnjD';'@jITIUJ Gp;r;rffiJl£ffil~ LD~uL5(j)

, to' tp LD)!J!J)ILDtm .,-6llrIro, ~"QIfUJro P;LUU~)!Jl£rT6OT "-~rTUrTrTULj Gp;r;rLD

(A)
to +3tm + to (B)

to +4tm + tp
6 4

(C) to +4tm + tp (D) .to +4tm + tp
5 6
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97. Numbering of events in a ne"tworkwas devised by

(A) Henry Gantt

fJJII' D.R. Fulherson

.(C) Chris Hendrichson

(D) Du Pont

(A)

(B)
(C)

(D) "l-lY> u rrQTl':"

• •
98. The ~actor of safety with respect to cohesion of an emb.ankment of height 6 m i~ 1.5.

The critical height of the embankment is

(A) 4m

(B) 6m

., 9m

(D) 12m

Vl@ 6 m I'-UJI)"(YlGIDLUJ uiGlirrCLDL"l-6irr t51GID_UGIDuu. Qurr!J)lPii!il 8irruLj8;8irrI)"6OOfl 1.5 ,"~6\l,

.,!9J1i:>LD~LD L"l-6irr llLUJI)"Ii:>llLuJ UJ i£lGIDQ) uS1 00 •

(A) .4m

(B) 6m

(C) 9m
(D) 12m
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- 99. In a how net, the discharge is inversely proportional to

(A) coefficientof permeability

(B) head causing the flow

~ number of equipotential drops

(D) number of flowchannels

,
U ITUJ Glj 6lJ ffi6\l u516\). ff, IT QGlJ GTI1G LlJ0 JDLDIT60Til)I @i"Wi L Girr GT~ ITLD"" JD~ Q i" ITLIT Lj ffi LLlJ il)I

(A) ""'(i)\ Lj IEGEL6\) @iGlllITlEill

(B) ff,C:IJITLL~~0IEIT6OT ff,~@~i"LDLLill

(C) "LD )1lffi6\lLD LL @ ~ U Lj IEGTI1GirrGT00 6ll1lfI<i;ffilE

(D) UITUJGlj 'lJlffiLu5IGirr GT006ll1lfl<i;ffilE

100. The short cut key to bring find and replace dialog box in MS Word is

(A) Shift + F gIIf" Control + F

(C) Alt + F (D) Control + R

(A) LDITOJrD1-+- F

(C) LDITOJW + F

(B) . IEL(i)\U(i)\~il)I + F

(D) IEL(i)\u(i)\~il)I + R

, ..

101. A display of a volume model that shows all of its edges is called a

(A) Surface model

SfII' Wire-frame.

(B) 3-Dmodel

(D) Solid model

(A)

(C)

AECI15

UIJUUGITGlj LDIT~ITl
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102. The three key elements for a -graphics _workstation include the host processor, display
controller and
(A) Plotter
(B) Keyboard
(iiiiII' CRT
(D) Digitizer

6U"'IJUL a6U..,ro ,@..,roUJP;~JD@j aiD..,6UUJIT6lH (1p~!J)I QPB;.$IUJ BiITIJQlOflBi.rrlro Qu@)i;~~ffi. QP""W. BiITl:_Ul -
BiLG\ \-lGlP;~ 6Un-LDJD!J)Itil

(A) 6U""IJ64aBiITro

(B) GlSl..,6 Uro""Bi

(C) Ul:~n-.<q... -

(D) BiQlOfluQUITrbl

.103. Which technique enables the designer to mold and shape rather than construct an object
using a series of lines? .
(A) Surface modelling
IJJ' .Solidmodelling
(C) Wire-frame modelling
(D) Finite Element Modelling (FEM) .

Sl@ 6U<q.6U""LDUUITQT@B;@j QiDITLn-uUlUJIT6lH aBiITG\Bi""QTB;
6UITirut5lLG\ LDJD!J)Itil6U<q.6U""LDuuiDJD@j l!LiD64Li:>u..jB;~ .. -

(A) aLDJDUIJULJ LDIT~rT1

(B) ~ 6lirrLDLDIT~ IT1

(C), .@"'!Jl8'6LL LDIT~IT1

(D) !9i6lirrQlOflUJ l!L!J)IU LJ LDIT~ rTI

,

104. Following is an example for mobile OS

fIJJI!I' Symbian
(C) DOS

(B) OS/2
(D) _Linux

IDLLDITG\Li:>OS-Ji>@j .s19B;Bi6lirrL '"G\~~B;BiITLG\

(A) Ql\lLi:>i5ltu~

(C) DOS

39

(B)

(D)
OS/2

Linux
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105. Specific gravity of raw rubber at O°C is'

V'f 0.95

(C) 3.45

(B) 2.5

(D) 4.5

(A)

(C)
0.95

3.45

(B) 2.5

(D) 4.5

106. Which among the following when added t(l plastics make them impervious to f(-rays?

wi! Barium salts (B). Asbestos fibres .

(C) Oleic acid (D) Vegetable oil

£~8ffiflirrL GruGurr(flj615l6TT. Gp;.$1~lLIL~ G8'fr8@5LD Gurr@l ~@1 X-ffi~frffi~8@5 "-L.Yffirr~ i!'~615lLD615lUJ8

G ffirrG' 8.$1 JD@I?

(A)

(C)
(B) ~ciuGuciuLrrciu p;rrITI615l1J)ffiGTr

. (D) i!'rr",,~ GrflirrG_w

. ,
..

107. The name of the glass produced by placing vinyl plastic and glass in several alte~nate layers

and pressing them with outer layers of glal'\s is

(A) Opal glass

iI!" Bullet proof glass.

(C) Enamel glass

(D) .Block glass

~ (flj ffiflirr_rr"l- ~ G' 8.$1 ~ G LDro u @j~ u51ro ~ 615l6IITro G 15.$1~ 615lUJlLILDffiflirroorr"l-615lUJlLILDG QJGiJGQJ !PI LDrr!D!PI

"JG'ffi6TTrrffi615lQJ~@1~@~~ i!'UJrrITIuu::orrro .$I615lL8@5LDa;flirr_rr"l-u51~ GUUJfr

(A) ~U6U a;flirr_rr"l-

(B) @5flirrG' @I615l6TT8a;rr::oa;flirr_rr"l-

(C) Gr6lITrrLDroffiOO_ rr"l-

(D) ,g6TTrr8 a;flirr..",-rr"l-
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108. Match List I with List II and select the correct answer using the codes given below the lists:

List I (Type of cement)
,

(a) Rapid hardening cement

(b) Quick setting ce.ment .

(c) High ~umina cement

(d) Low heat cement'

(a) (b) (c) (d)

(A) 4 1 3 2

(B) 3 2 4 1

(C) 4 3 2 1,r
4 3 1 2

List II (Uses)

1. Refractory concrete in industries'

2. Dams

3.. Concrete under water

4. Repair of bridges

,

UL"l-WQl I-Qj ~GirQTQ)i&UL"l-WQl II-CL./T(!;I QU/T<!!i~~ l1lWWLb"IflW/T6l>1QS1Q)L.Q)w Ci&iTp;Qi&(!;I~~ GT@i91/E.

UL"l-WQl I (61uSlL"l-uSlQ.r'QJQ)/E) , UL"l-LUQl II (uwQr)

(a) ..!9I~CQJ/E Q/EL"l-LU/T8;@jLb6luSlL"l-

(Rapid hardening cement)

(b) Ca,/El1l/T/E ~W~LU/T@jLb 6luSlL!-q. ,

(Quick setting cement)

(c) .LLUiT..!91~ US16l>1/T$IuSlL"l-'

, (High alumina cement)

(d) @jQ)!DQQJUU 6luSlL"l-

(Low heat cement)'

(a) (b) (6) (d)

(A) '4 1 3 2

(B) 3 2 4 1

(C) 4 3 2 1

(D) 4 3 1 2'
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109. Consider the following statement :-

Higher water cement ratio in concrete results in

1. stronger mix

-, '

2. better workable mix
, ,

3. a weak mix'

4. less bleeding

of these the'st1j.tement.

(A)

(C)
1and 2 are correct

3 and 4 are correct

iI'f'2 and 3 are correct

(D) land 4 are correct'

a;W8;/EOOL ""-iDw/E"'l6IT ",,-ir~~ G:P;IT8;@)/E :

/EiD/EIT"'l ~u5l6iJ <&I:5l/EU U ")-UJ IT~ fij ir~ 81u51L")- 6l5I$1i5ib:5l ~IT6iJ "liD U (ij\Lb 6l5I"'l6ITGlj

1. "-w:5l UJIT~ /E6\)~ GU

2. " u518;/E G:GU"'l6\)UUIT(E\ Q"LUlLj Lb /E6\)"'lGU

.
4. @)"'llDGUIT~ fijir QGU.rrIG:UJiDlDtb

@"'lGU/E.rrI6iJ

(A) 1 LDiDwtb 2 "IT!

(C) 3 LDiDwLb 4 "IT!,

"

(B) 2 LDiDwtb 3 "IT!

(D) .1 LDiDwLb 4 "IT!

110. The time of consolidation of layer with one way drainage is 't'. The time of consolidation for

the same degree of consolidl!-tion of the same layer with two way drainage is

jJI!f 0.25 t (B) 0.5 t
(C) t (D) 4 t

~Q9 GU~ GU")-/EIT6iJQ/EITOOL LD~ <&I(E\8;$l6iJ <&I(Yl8;/ELb "liDUL G:i5"'lGUuu(E\Lb G:p;~tb't' GT6nT16iJ.<&IG:i5 LDOO
<&I(E\8;$16iJ <&IG:i5 <&I6ITGlj<&I(Yl8;/Etb "liDUL @~oo(E\ GlJ~ GlJ")-/Eir6iJ @(9)f>i5ri~ GT@JGlJ6ITGljG:p;~Lb ~@)Lb?

(A) 0.25 t (B) 0.5 t
(C) t (D) 4 t
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111. Which one ofthe following is not classified as a shell?'

(A) Dome JIIIf .Pyramid. .

(C) Barrel arch (0) Cone

r.

(B) Q!illDLrrC:e;rrrrGiu

(0) QUL C:e;rrrrGiu

.,

(A) GiuG;iLfJ<flfrrC:e;rrrrGiu

(C) Glfrr6lJLiJilrrC:e;rrrrGiu

a;we;.o.rL6lJ!D!J)IGir'"~ 8i\.~ (Shell) ~e; 6lJ""e;uu~:$ (lfltq.UJrr~?

(A) GL,!"LD(Dome) (B) LSlfJt.61L...(Pyramid)

(C) .GUfJ6lJ~rr<f (Barrel arch) (0) 8i\.LDLj(Cone)

112. A typy of bond in brick masonry where bricks are laid on edge

(A) Stretcher course (B) Header course

.• IiiJI' Soldier course (D) Bed course

113. o/hich one of the following is not a method of underpinning?

(A) Pit method

~ Put log method

(C) Pile method

(0) Pier method

.. a;W8;e;.o.rL6lJ!D!J)IGir'"~ ~tq.LDrr...,6lJ~uu~:2i~LD (underpinning) C:6lJ""ro~6lJ""Q)?. .
. (A) 6l!J)luGirm(lfl""W(pit method)

(B)~.o.r~ Qe;rr~:2i:$6lJ(lfl""W(put log method)

(C) @j:2i~8;e;W1(lfl6IDW(pile method) .

(0) i9JT.o.r(lfl""W(pier method)
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114. Equally spaced contours indicate
(A) inclined plane surface
$fi1" uniform slope

(B) flat surface
(D) surface with different slopes

(A)
(C)

IFITuJ 6lj i!i6ITLD

9lfIT 6lITIFITuJ6lj

(B) .IFLDi!i6ITLD
(D) QGlJ6UC::GlJ1!JI IFITuJ6ljo$""6IT';; Go$IT.mL i!i6ITLD

115. The expansion for GPS for locating anobject on earth is .
(A) GeographicPrecision Signature ~ GlobalPosition System'
(C) Geographical Plan System (D) Glosnass Position System

Lj 6l5ItP16\> '1j>(flj G U IT@ffiI @r ~ LDIT6l5IL~ ""i!i';; o$.m (ij\L5iLq..;;o$ lLi!i 6lj LD1£1. tSl. GToo .-@r 6l5IITIGlJIT';;0$LDGT~ ?

(A) Lj6l5lu51UJ6\> ~GilcllUJ ""o$QUJfrUULD (B) lL6lJo$ i!i""lfUUL .@(fljUU""LDULj

(C) Lj6l5lu51UJ6\> i!i""lfUUL ~""LDULj (D) @jC::6ITIToo)!i00 .@(fljuL5lL ~~LDULj

116. The acrallactic lens is fitted in the telescope oftacheometer in order to
(A) eliminate error (B) eliminate cross hair
" eliminate additive constant (D) eliminate multiplicate constant

," GL.;;&lC::UJITtDLLITI@rQi!iIT""6lJ C::)!iIT.;;&lu516\>~';;lf6lJIT"t-.;; ~"t-QUIT@~i!iuu(ij\GlJ~@r C::)!iIT';;o$LD

(A) L5l"" ~"" UJ )£ilfITo$ITI.;;o$ (B) @j1!Jl';;@i';; C::o$IT(ij\o$""6IT)£ilfITo$ITI.;;o$

(C) 8<>.L(ij\ LDITJD\661""UJ )£ilfITo$ITI;j;o$ (D) QU(flj';;o$6\> LDITJD\661""UJ )£ilfITo$ITI.;;o$

117. G.T.S. stands for'
(A) GeoidTrignometrical Survey
(B) Great TerminologySurvey
(C) Great Traverse Survey
JIIIf' Great Trignometrical Survey

)£i6lJ ~6IT""GlJu5IUJ6616\> G.T.S. GT@ru~

(A) ioJ,u5IulfULj IFLDUIiii!iLDIT6lIT(1p';;C::o$IT_6l5IUJ6\> ~6IT""GlJ

(B) 0$"" 6lJ80Q IFIT!Do$Gil IFLDU Iiii!iLDIT6lITc:: U lf6IT6l5IUJ6\>

(C) C::o$IT(ij\o$GilLD!D1!JILDUIT""o$o$ciT IFLDUIiii&LDIT6lITC::ulf~6l5IUJ6\>

(D) QuITIUJ (1p';;C::o$IT_6l5IUJro ~6IT""GlJo$ciT

(
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118. Apex distance in a simple curve is indicated by

Where R is radius of curvature arid

B is degree of curvature .

(A) . (B) R;(tan B -lJ
. .2 .

IFITiOITI)"_ .$IGOlU.DLL GllGOlGITGllGOlI)"uS16Orfl...ifIF @TI)"Lb br6Orl-J~

(R br6OrU~ Gll6IDGlTGIj~I)"Lb)
. -. -

(B br6OrU~ Gll6>lGITGIj ~1E1T_Lb)

(A)

(C)

(B)' R. (t~n~- 1J
(D)R. (sec~ -lJ

119. The technical name for Line of sight is

(A) Level Line .

~ Line of collimation

IElTewrQ> tf1E1TL"f-6Or ~iOIT~Q>~LUU QULUIT •.

(A.) l.DLUj; ~1E1T~

(C) .@6>l_IE~IT6>ll.D8; CIEIT~

(B) Hori7..ontalLine

(D). Datum Line

(B) .$I6>lLl.DLL8; CIEIT~

(D) I5I)"Glj8; CIEIT~

120. The iEmgthoffurrows must be shorter for

«JIf" Porous sandy soils .

(C) Heavy soilll .

(B) . Tight clayey soils

(D) Clayey soils

UGirGIT~iOIT8;@) C'P6ID!D UIT6m~~Q> ~i06Or ffiGITLb uSIIE6l.jLb @)GOl!DGllITIEbrIBi5 l.D6lRrrGll6>lIE8;@) .@<!98;IE CGll6lRrr~Lb?

(A) ~6lRrr ~6IDGIT QIEIT6lRrrL l.D61IOTQ> . (B) ~<!98;1El.D1T6OT a;GIfll.D6lRrr.

(C) ~LIT~~LUIT6OT l.D6lRrr . (D) IEGIfll.D6lRrr

•
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121. The information which cannot beincluded in drawing is conveyedto the estimator
(A)

~
(C)
(D)

verbally
through specification
through cover note
by bar chart

U UEJ 8>ffi1"" G8'rTffi8>QP1<j.llJITiJi iJiIE6lJ"" 8>ill LDi5IU CILL':IT6TT('ljffi@j Q iJirTlllJU U (b1~i91 LOQPm iIJ

(A) 6lJITUJ 6lJ~llJIT8>

(B)6lS1u~ffi ""-rDW (lP6\JLDIT8>

(C) "-.miIJu5ILL@jJl5lUlj (lP6\JLDIT8>

(D) 8'LL 6lJm~ULLO (lP6\JLDIT8>

122. To estimate the cost of the whole project by detailed estimate, provision for supervision (or)
departmental charge is
!JiJI". 5%to 10%of estimated cost

(B) 1t%to 2%of estimated cost

(C) 3% to 5%of estimated cost
. (D) 15%to '20%of estimated cost

~('lj i51LL~i51rD8>IT61lT QLDIT~iJi Q8'6\Jm6lJlJ..jLO 6lS1rTl6lJIT61lTQPmiIJu5I"" i91"".Ol5l;"'LDIT8>ffi8>mf]ffi8> .GiJim6lJUu(b1LO
G:LDrDU ITrTm6lJ <&I""6\Ji9I 191m iIJ 8'ITrTp,iJiQ8'6\J6lS) 61lTriu8>~1i;@j ~i91ffi8>u U (b1LO'QiJiITm8>

(A) 8>mf]ffi8>UULL 6lS1m6\Ju5I"" 5%QPiJiGiJ 10%6lJm~

(B) lEmf]ffi8;UULL 6lS1m6\Ju5IGiJ 1t %QPiJiGiJ2%6lJm~ .

(C) 8>mf]ffi8;uULL 6lS1m6\Ju5IGiJ 3%QPiJiGiJ5%6lJm~

(D) 8>mf]ffi8>UULL 6lS1m6\Ju5IGiJ 15%QPiJiGiJ20%6lJm~

123. The unit of payment for grouting of cracks, joints'etc is in .
(A) Number~Per metre
(G) Sq.m (D) CU.m

Q6lJ1<j.Ulj lDrDWLO ,@m",,-uLJ8>m6TT<&ImLuuiJirD8>IT61lTG:6lJm6\Jffi@j 8'LOU6TTLOiJi~ <&IQ)@j

(A) Gfoomf]ffim8>' (B) J'lLLrT <&I1<j.uumLu5IGiJ

(C) 8'i91~ J'lLLrT (D) 8>61lTJ'lLL~
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124. Strain energy stored in a' specimen due to'volumetric strain is .. . . '.

~.
,,2

(B)
,,2

volume-x volume. -x
21? 3k

(C) ,,2
volume (D) 2,,2

volume-x --x
4k k

(A)
,,2

(B)
,,2

-x U(l1jLD~ -x U(l1jlo~2k 3k

(C) .,,2
(D) 2,,2

-x U(I1jLD~ --x U(I1jLD~4k. k

125. A simple beam with a point load 'p' at its centre, the strain energy stored due to bending is

~f p2f
(A) 60EI ~ 96EI

(C) p313

96EI (D) p214

96EI

(A)

~(I1j aofTlhfTIJ6OM6lSlLL~::51~ LD~::51uSl6o

Gaoa;rfili;a;uu(&\tb ::51rfiLjqj,!Drv6o

p213

60EI

p313

96EI

(B)'

(D)

p213._-
96EI

p214

96EI

126. If brass has higher co-efficientof thermal expansion than steel, it means that
(A) both brass and steel have equal expansion
(B) steel expands more than brass
{IiIf' brass expands more than steel
(D) expansion is not related to coefficient of thermal expansion

tS1~1h6OlQTuSl~ G@JUU 6lSlrfi@JfTli;a;1i;@56OMa;tb .@(I1jtbtS1~ G@JUU 6lSlIT]@JfTli;.s1i;@j--a;~6Ol1h 6lSlL ~::51a;tb 61"..-1160
(A) tS1~1h6OlQTLD!D!PItb .@(I1jtbLj .@ IJ~(&\ tb aoLDLDfTa; 6lSlIT]@J6OlLlLjtb

(B) .@(I1jtbLj tS1~1h6OlQT60lLlJ6lSlL ~::51 a;LDfTa; 6lSlIT]@J6OlLlLjtb

(C) tS1~1h6OlQT.@(I1jtb6Olu 6lSlL ~::51$ LDfTa; 6lSlIT]@J6OlLlLjtb

(D) 6lSlIT]@J6OlLILjill 1h~6OlLDLlJfTffii')! Q@JUU 6lSlIT]@JfTli;a;1i;@j6OMa;iti')! L~ QlhfTLrTLj 6OlLLlJi')! ~6oro
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127. Normal stresses on two perpendicular planes passing through a point are zero but
complementary shear stresses are :t 200 N/mm2. Maximum principal stress at the point is

(A) 100 N/mm2

ViIf' 200 N/mm2

(B) 150 N/mm2

(D) 250N/mm2

@IJ<ioT(&1 QlFriJ@i~i91 iOGlTriJ&ciTlEL)!;i91 QlFru@{.itbL.JciTGTfl~ruQlFlLJruu@tb QlFriJ@i~i91 iO~lE6lj IE~ q\,6.mru

6f~n-LD""!DIFfPl8;@iiO~lE6ljlEciT :t 200 N/mm2. ~UL.JciTGTfl~ru,QlFlLJruu@tb .&I~lEUL.1FCY'i06irr~LD~iO~lE6lj

(A) 100 N/mm2

,(C) 200 N/mm2
'

(13) 150N/mm2

(D) 250 N/mm2

128. 'A cantilever beam subjected to a concentrated load at its free end, to max deflection is

r/ pl3/3EI (B) ,p12/2EI '

(C) pl4/8EI (D) pl318EI

'iil(flj 11jI(flj~i916lSIL.L~~ru (cantilever beam) Q6lJrDfPICY'~61lT~ru L.JciTGTflu~ QlFlLJruUL.LITru, QU(fljLD

6lSI6lJ8;IEtb

(A)

(C)
pl'13EI

pl4/8EI

(B) pl2/2EI

(D) 'p13/8EI

129. Relationship among E, C and K is

(A)

(C)

6KC'
E= -

3K+C

E 3K+C
9KC

(B) E= 3KC
9K+C

~_ 9KC
3K+C

(A)

(C)

AEC/15

E= 6KC
3K+C

E_3K+C
9KC
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(B)

(D)

E",' 3KC
9K+C

E= 9KC
3K+C



. ,

130. A suspension bridge with a two hinged stiffening girder is

(A) Statically determinate

filii' Statically indeterminate to one degree

(C) Statically indeterminate to two degree

(D) Statically indeterminate to three degree

@I)"ElioTG'661~wul.l8; ,$Q>Qa;rrElioTL QlOrrffiJ@jUrrQlLDrrQlQjl
~. . .

•

.
(A) ,@~QluShuQ> ,@ir"","wLDrrQTQjI:

(8) ~@ utq-uSlQ> ,@~QluSlwQ> ,@ir"","WLD!DWQjI

(C). @I)"ElioTG'u"l-uSlQ> ,@~QluSlwQ> ,@ir"","WLD!DWQjI

(D)

•

131. While using three moment equation, a fixed end of a continuous beam is repla:ed by an

additional span of

~ Zero 'length

(8) Infinite length
)

(C) Zero moment of inertia

(D) Equal length of adjacent span

(Yl~(!)J ~@ul.l~a; 6LD~urrL~LU uW~UG'P;~Ul C:urr~. ~@ ,@~QlwrrQl Qfl~QlQ,W.8; Qa;rrElioTL QlOrrLir

661LLLDrrQTQjI. @Ji;I08i>.G'IOQ>.£LLp;~QTrrQ> LDrr!DrDG'Q6WuJUUG'.$lWQjI

(A) . lMil1£l W ,£roUl

(8) Qfl"l-661Qlrr ,£roUl

• (C) lMil1£lw ILWW ~@Ui..l~LD

(D) <!9lElioT~L ,IDLLP;~~ .£ro~!D@j 6LDLDrrQT,IDroUl
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132. Maximum strain th\'oryfor the failur!l of a materi",l at the elastic limit, is known as

(A) Guest's Treca's theory

~ Rankine's theor:y

(C) Haig's theory

(D) Von Mise's theory

. LllffimlD GT6UmQ)8;@jffi(lpr6lGlj G,tJDU@i1l QUITC'9m6lTu uriJr6lUJ ~~ffiULIF ~rT1'-1~JD!D6U ~ffiITLUIT@ GT6irru~

(A) ffiQuL-"I-lJffiITQu ~ffiITLUIT@

(B) QIJ6irrmffi6irr ~ffiITLUIT@

(C) QffitU8; ~ffiITLUIT'@

(D) 6uIT6irru51G1\lGiu~ffiITLUIT@

133. The moisture absorption of a good stone should be less than

(A) 1%

(B) 10%

".. 5%

(D) 15%

ID6UQ) ~lJlD IT6llTffi6U6'6I6irr)ljir "--r6l I@;ffi ~ DJ6llTIT6llT~@p;~1F!£6lS1$1!£!£m!£8; @jmDJQJIT6llT!£ITffi@C'9!£!£6U ~QJ 6Wr@Lb

(A) 1%

(B) 10%

(C) 5%

(D) 15%
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.134. The critical hydraulic gradient of a soil is.1.0. Its saturated unit weight is

(A) 1.0 kN/m3

(B) 9.81 kN/m3

(C) . 10:0 kN/m3

(jI!' 19.62 kN/m3

(A) 1.0 kN/m3 ,

(B) 9.81 kN/m3
J

(C) 10.0 kN/m3

(D) 19.62 kN/m3

..

..... .
135. -In a series of triaxial tests on a soil, if the deviator stress at failure.is independent of cell

pressure, then -----

(A) c=O

"I/J=O

(C) c=O and I/J=O

(D) c=O and 1/J=45'

Vl@ l!l6Wl'6lRlfl6\)!DL~~UULL Q~ITLir e!J'QJ8<J;aIfIT-i!iQ)~t6l6\). QJ.Q\)Q)l!l !@!98;@jtD aUIT:1jI iLQrQT QS1Q)8;@j

. ~Q)e;QJIT~:1jI e;LGl~ ~Q)e;Q)QJ QUITl!Jl~~ l!lITWIT:1jI!@@)i;~IT6\)

(A) c=O

(B) I/J~O
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136. The capillary rise in clay is usually between.

(A) 0.10 and 0.15m .

(C) 1.0 and 10.0m

(B) 0.3 and 1.0m

fiiJl!"more than 10m .

(A) 0.10 LDrDIDJtb0.15m

(C) 1.0 LDrDIDJtD10.0m

(B) 0.3 LDrDIDJtD1.0m

(D) 10m ~m6lS1rD@jtb ~i51a;LDITa;.

137. Jfthe undrained cohesionof a saturated clay is 50 KPa, its shear strength is equal to

(A) 25 KPa ~50 KPa

(C) 100KPa (D) 200KPa

)B16OJjDQ8'JDI@.jrDjD a;ffi1LDoo61mfl""r GULq-GlUrD!DITiDt516OJ",,""ut51""r ~m@.j 50 KPa 6T6llIIcil ~tbLDOO61mfl""r 8'IDJ$a;.

GU615160JLDu5I ""r ~ mGU IT61lT19I

(A) 25 KPa

(C) 100KPa

(B) 50KPa

(D) 200KPa.
•

138. For a soil having liquid limit of 45%, plastic limit of 25% and shrinkage limit of 15%,the

plasticity index is

/20% (B) 40%

.(C) 50% (D) 60%

~(!lj LDOO61mfl""r)tn-LD GUlJtbLj 45%,@j6OJ!,l)LDGUlJtbLj 25%LDrDIDJtbIli(!lj$o$ GUlJtbLj 15%6T6llIIcil ~iD""r @j6OJ!,l)LDd'

. IliL.QLOO

(A) 20%

(C) 50%

AEC/15 52
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,
139. The permissible settlement is the maximum in the case of

(A) Isolater footing on sand
(B) Isolater footing on clay

iiIf" Raft on clay
(D) Raft on sand

~WJLD~B;e;~i5B;e; ~QPffiJe;Q)rr6OTl9J 6r,ID~ (!!;!'prolro ~~e;LDrre; ~<6B;@jLb?

(A) LDEWTroIQraLD"ro llLQrGlT~6llIlUJrr6OTe;Q)LB;e;rrro .

(B) e;Glf1LD6li<r.m1QraLDro llLQrGlT~6llIlUJrr6OTe;Q)LB;e;vro

(C) e;Glf1LD6li<r.m1QraLDro urruJ'e;Q)LB;e;rrro

(D) LDEWTroIQraLDro urruJ e;Q)LB;e;rrro

140. As per IS code, the presumptive safe bearing capacity of soft clay is"

(A) 45 t/m2 (B) 165 t/m2

V 10 tim 2
, (D) 25 t/m2

~,ID~UJ. Q8',ID~ry urrl,IDl9JQ)ryu5lQru"l-. .
urrl9Je;rruurr6OT ~rrffiJ@j ~jDQr.

• (A) 45 tim"
(C) 10 t/m2

(B) 165 t/m2

(D) 25 t/m2

141. A pile of 0.50 m diameter and of length 10 m .is embedded in a deposit of clay. The
undr~ined strength parameters of day are cohesion = 60 kN/m2 and angle of internal I

friction = O.The skin friction capacity .ofthe pile for an adhesion factor of 0.6 is
(A) 106 kN

JIi1'f' 565 kN

(B) 283 kN
(D) 671 kN

. Vl@ 0.5 m 6lSlLL<!JiLb 10 m JbGlTQPLb Qe;rr6li<rL @j~19JB; e;Q)LB;e;rrQ)rr6OTl9J e;Glf1LD"lioTu"l-6lJ~l9JQr
LjQ)~e;uuL(!)lQrGlTl9J. e;Glf1LD6li<r.m1Qr Jbir6lJ"l-UJrr~ 8'l!JIB;e; 6lJG6lQ)LD e;rrry.m1e;Qr e:PQ)jDaW tSIQJEWTULj =
"60 kN/m 2 , ~l)'rruJ6l.lB; ae;rrEWTLb= O.LD6li<r.m1QrVlL(!)l'Lb ~emQJLD e;rrl)'.m1 0.6 6r6llllro @j~19JB;e;W1u5lQr a~rrQ>
llLl)'rruJ6l.lLD~ULj

\

(A) 106kN
(C) 565 kN

53

(B) 283 kN
(D) 671 kN
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142. Earth pressure at restis

(A) less than active earth pressure but greater than passive earth pressure

, greater than active earth press).lre but less than passive earth pressure

(C) greater than both the active earth pressure and passive .earth pressure

(D) less than both the active and passive earth pre.ssure

'ij>LUGlj~~6lJl6kiJ Lj615l~@iti'ilDIT",",~

(A) i'imr'rGlj ~~6lJ q615l ~@iti'iit~i'i615lL @i~JD<OlJIT"'Gljtilqj,",",ITGiJ@iPJ.$lllJ ~~6lJ. Lj615l~@iti'iit~i'i 615IL

~:51 '" lDIT'"Gljtil @@ffi@itil

(B) i'imr'rGlj ~ ~6lJ Lj6151~ @iti'iit~i'i615l L ~:51"'lDIT "'Glj til qj,",",ITGiJ@iPJ.$lllJ ~ ~6lJ Lj6151~ @iti'iit~i'i 6151L

@)6'6l!D<OlJIT",Gljtil @@ffi@)til

(C) i'imr'rGlj ~ 6'6l6lJLj6151~ @iti'itil lDdJ iPJtil iiiiPJ.$lllJ ~ 6'6l6lJ Lj6151~ @iti'itil qj,.$lllJ @ ~6Mr6'6lLlli til 6151L

~:51"'lDIT'" @@ffi@itil

(D) iDmr'rGlj ~ 6'6l61JLj6151~ @itiDtil lfidJ iPJtil @iPJ.$lllJ ~ 6'6l6lJ Lj6151~ @itiDtil qj,.$lllJ @ ~6Mr6'6lLlli til 6151L

@)6'6lJD<OlJIT'"@@ffi@itil

143. As per IS 2911-1974 the safe load of pile from pile load test is taken as

(A) 1/2of the load at which the total settlement is equal to 5%ofthe pile diameter

(B) 2/3,d of the load at which the total settlement is equal to 10% of the pile diameter

Jii'" 1/2 ofthe load at which the tot;l settlement is equal to 10% ofthe pile diameter

(D) 2/3,d of the load at which the. total settleme9t is equal to 5% of the pile diameter

@!I>:51llJQ"!I>iD~til 2911-19 7 4 U rT1!I>i9I6'6l~u51.mu lq- @)iti91ffi.;l9l U \5 G llJdJ JDG"IT iD6'6l",",(Yl6lJtil @)iti91ffi'" 19lu51.m

. urri91",rruurr",", u\5 iDrrffiJ@):51JD.m,

•(A) or!I>i'i u\56151GiJ QlDrritiD ~C'PffiJ",GiJ @iiti91ffi"'l9lu51.m 615IL.Lit:51GiJ 5% !LGiTmGi'irr ~uu~615IGiJ

1/2 ~.rrGlj

(B) or!I>iDu\56151GiJ QlDrritiD ~C'PffiJ",GiJ' @iiti91ffi"'l9lu51.m 615ILLit:51GiJ 10% !LGiTmGiDrr ~uu\56151GiJ

2/3~mGlj .
(C) or!I>i'i u\56151GiJ QlDrriti'i. ~C'PffiJ",GiJ @iiti91ffi"'l9lu51.m 615ILLit:51GiJ 10% !LGiT",:GiDrr ~uu\56151GiJ

1/2 ~mGlj

(D) or!I>iD u\56151GiJ QlDrritiD ~C'PffiJ",GiJ @)iti91ffi"'l9lu51.m 615ILLit:51GiJ 5% !LGiTmGiDrr ~uu\56151GiJ

2/3 ~mGlj
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144. Match the following :
A " .

(a) Service pip.e !.
(b) Distribution pipe 2.

(c) Supply pipe 3.
(d) Water main 4.

(a) (b) •(c) (d)

JiIIf' 2 1 3 4

(B) 1 3 4 2

(C) 2 4 , 3 1

(D) 3 1 2 4

.,
B.

Pipe connecting storage tanks to va'rious fixtures
Pipe usedfo~ feeding the water from the main to
the building. . • .
Pipe line.between stopcock and'storage tank
Pipe line intended for general use

Qu.rr<'9~~a; :

A
(a) a;Ltq-L p;6llll5@jWrrW 1.

(b) U4'i1T6Il5 @jwrrw 2.
(c) 661.@GUJrra;5 @jWrrw 3.

(d) CY'P;G>T6n LO,ffiIT5@lwrrw 4.

(a) (b) (c) (d)

(A) 2 ' 1 3 4

(B) 1 3 4 2

(C) 2 4 3 1

(D) 3 1 2 4

B
GI05a;i!; Qp;rrLtq-6nUJlLjW Q6lJ6UG6lJ.Q)l Qurr<'9~p;la;~ffilLjW
.@6n6lllIT5@jW @jwrrw

CY'P;G>T6'OlL05@jwrruS1ro1~)i;~ a;Ltq-Li!;p;lW@j ,ffi1JGlf15@jW@jwrrw

GIb5a;~QlOrrLtq-5@jW &I6nLUU rr6llllW@jW .@6'Ol':"GUJu...rr6llT@jWrrw
.@6'Ol6WTULj

Qurr~6lJrr6llT uUJG>TUrrLtq-wa;rr6llT @jwrrw .@6!l6WTULj

(B)

(D)

145. Under like conditions, approximately how much more water will be carried by a 20 em pipe
when compared to that carried by a 10 em Pi~pe .
(A) 2 times . 4 times. -
(C) ? times (D) 8 times

~GIJ LOrr~IflUJrr6llT@;WGSiw10 Q/f.t.O. @jWrr6nUJ 661L20 Q/f.t.B. @jWrrtU GlOrrlJrrUJLOrra; 6T6U6lJffi6l.j ~~a; ff,6!l1J
6T(1\~6 Q6Ql~W

(A) 2 LOLlF.J@j

(C) 6 LOLri.J@j
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146. Cap system provided at the top of landfill is made of

CJII' . layered soil cover
(0) rubber sheet cover

(B) concrete cover

(D) plastic sheet cover.

(A) ~08;@i LDmr Gurrn-"'l6lJ

(C) ~uun- 15"'0 Gurrn-"'l6lJ

(B) "'!D",rr"'l~ Gurrn-"'6lJ
(D) t51mrrwLq-8; 15"'0 Gurrn-"'l6lJ

147. The main mechanism for purification ofwater in slow sand filter

i/ Formation of schemutzdecke (B) .Straining

(C) Sedimentation (D) Flocculation

QLDi9I6lJrr6m"LD6lllITGU6lJLq-"'LLq-uS1GU~"'l~ "':iiE1",ITIuuiE1GU ,,-rom CY'iD~"'lLD @llJrfu"'"'lLD6li

(A) .Giu41CY'.LwQL8; "-(f96lJrriDGU . (B) 6lJLq-"'L0iDGU

(C) uLq-iDGU (D) iE1~mrr8;@iiDGU

148. Ratio of 2.5 day 35°0 BOD to the 5 day 20°CBOD is -----

~ 1 (B) 1.5

(C) 0.8 (D) 0.65

2.5 )!irrro 35°0 BOD -, ,8;@itb 5 )!irrro 20°0 BOD 8;@itb,,-rom6lS141iDtb

(A) 1 (B) 1.5

(C) 0.8 (D) 0.65

149. .A commonlyused hand pump is the

(A) centrifugal pump

(C). rotary pump

ItlJI!'" reciproc'atingpump
(D) axial flowpump

Qurri916lJrr~ UllJ~u0:iiDuu0tb~!Jl @i!JlrrUJ~G~!Dr6l6T~Ui91

(A) "'~ ~G~!Dr6l (B) ""'LrrLL ~G~!Dr6l
(0) "'!JlGU6T,!i;iE1~~G~!Dr6l (D) ~iJ'", 6lJ~ ~G~!Dr6l
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150. The most signincant air pollutant is
(A) Carbon dioxide
(C) Nitrogen

(B) Oxygen
~Sulphur dioxide

u5I'" (lp ffi£1 tlJ LDrmIT LDIT"'u (1):i;i91 Li>"'ITIJ ~

(A) IEITrTU6irr .-0>'- ~ffi.-o>61U (1)

(C) .-o>)DLlJlB6irr
(B) ~ffionSllB6irr

(D) "GilUrT.-o>L ~ffi.-o>Q\)(1) -

151. When level difference
_joined by
(A) Man hole

JIi1!" Drop manho~e

between branch sewer and mam IS more than 0.6 -m these are

(B) Lam phole
(D) Street inlet

(lp iD6irr.-o>LD LD!D!PILi> ~.-o> m '" ~ 61.jJ!\rTffi @j!JiITw",cl16irr LDLL:i;iE1 !D1f1.-o>LC~ tlJ tlJ IT6'1 6lS1:i;iE1tlJ IT"Li> 0 .6 'Lfi IE 6lS1L
<'!lJiEI'" LDIT'" @(Ilj!BiDITGil @.-o>@JiJ;GiT @ciJ@J IT!PI@.-o>61!IITffi",uu(1)If16irr!D6'I_ -

(A) ~GiTi9I.-o>m (B) "'~"'ITGil i91.-o>m

(C) dJ~ ~GiT 191.-0><;IT (D) Q iD(Ilj .!9J.-o>!Ji@JITW

152. The following three important stages are known to occur in the biological action involved in
process ofAnaerobic digestion, -

I. Hydrolysis

2. Acidogenesis,
3'. Methanogenesis
The correct sequence of these stages are
(A)

(C)
3,2, 1
3, 1,2

(B)

?
2,3, 1
1,2,3

2,3,1
1,2,3

(B)

(D)

""'iE1 Q"rflLD IT6'I 1LuSi rfl tlJ Gil 6lS1.-o>6'luSiGil ,g6irr@J(IljtD (lp6irr!PI U "I-",GiT )DLU uiDIT ",ffi QiDrfl tlJ U U (1)1f1!Di9I'

1. J!\rT:i;iDGil

2. <'!lJu5I6IJLDITffi",Gil

3, Lfi:i;GiD6'lIT ffi",Gil

@!BiD u"I-'" cl16irr "rfl tlJ IT6'I @Jrfl.-o>"

(A) 3,2, 1
(C) 3, 1,2
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153. Lime and Soda are added to water to remove. .

. (A) Pathogens

!JII'" Hard~ess

(B) Iron"

(D) Nitrates

(A) G)5ITlU U~ULjLD $I@u51"

(C) IE<q.61l1~i1i6irr 6"5lLJ)

(B) @@LDLj

(D) 6"5l)5LGIJ,L

154. In a conventional" activated sludge, how much oxygen is requ~red per kg of BOD~to be

"removed?

(A) 0.6 - 0.65 kg

(C) 0.3 - 0.4 kg

/ifl/'!"0.9 - 1.2 kg

(D) 1.5 - 1.8 kg

(A)" 0.6 - 0.65 kg

(C) 0.3 - 0.4 kg

155, Cowl is provided at

(A) \ Lower end of a ventilating column

.~ Upper end of a ventilating column

(C) Upper end of manhole

(D) First step in manhole

"(B) 0.9 - 1.2 kg

(D) 1.5 - 1.8 kg

(Yl<q. @,;"GIE QlErrGi8;lEuuGi$l!D~

(A) IErrtiJI!JIU G U rr8;@i~ ~ 6OOfl6irr.$~ (ljl6"5l61l1uSlGil

(B) IErrtiJl!Jlu Gurr8;@i~ ~6OOfl6irr GLJ)Gil(ljl6"5l61l1uSlGil

(C) ~GiT ~6"5lffiuSl6irr GLJ)Gil (ljl6"5l61l1uSlGil

(D) ~GiT ~6"5lffiuSl6irr (ljli1iGil u<q.uSlGil
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156. The common source for flaky aggregates is

- (A) . Sea shore gravel bed

,. -Laminated rock bed'

i"L6OlLUJIT6lITIliliJlliGTflGilQUITi9J6UIT6lIT<!tJ,~IT'l1iJ

(A) IliLliJlli6lIT'l1f'l6OlGTTo!i;IliGilU(i;1o!i;6Ol'1li

(C)' 6JLITo!i;$lUJUIT6lITWUU(i;1o!i;6Ol1li.

(B) Sandstone bed

CD) Talus

(B) LD_liJIliGilU(!)o!i;6lIT1li

CD) LITroQu (Talus) .

. 157. The test suitable for a concrete of very low workability is

IJtII" Vebe test
(B) Sl urn p test

(C) . Flow test

(D) Compacting factor test

@i6lITW6UIT6lIT~6U6OlrouuGlIiJ ~m6lITLDQIliIT600rLIliliJIliITQ)'l~GTT6lSlLIfITlUJIT6lIT.~lflT~Q)6lIT

(A) 6lSl- LSl-.~If~~Q)6lIT(Vebe Test)

(B) Qu?'JliJu ~lflT~6Ol6lIT(Slump test)

(C) SlLL ~lflT~6Ol6lIT-(FlowTest)

CD) ~@o!i;@i IliIT'l6liOfl~lflT~6Ol6OT(Compacting factor test)

158. The cement becomes unsound, if the percentage of free magnesia exceeds -- by
weight of cement.

(A) 1.5

(C) 3.5
. (B) 2.5

JP!"6.0

8i~)i;ibl'lLDITm LDo!i;sn61UJiblblm~GTT6l.j6luSlL"I-u5lm 1f~6lSl$l~ibiblm ,")i;~~GTT~6U QSlL ~iblIliLDIT~ITGil~)i;~

61uSIL"I- ILlJ)liblib~m60lLDUJliJWi"ITS;( unso un d) LDrr!Dl6lSl(i;11iJ? .'

(A) 1.5

(C) 3.5

59

(B) . 2.5

CD) 6.0
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159. Assertion (A)

Reason (R)

.
Light weight concrete exhibits higher shrinkage than normal weight

concrete

Modulus of elasticity of light weight concrete is lower than that of

normal weight concrete

Select your answer according to the codes given below:

JJtIf' Both A and R are true ~nd R is the correct explanation ~f A

(B) Both A and R are true but R is not the correct explanation of A

(C) A is true but R is false

. (D) A is false but R is true

@i""iD)ii1"'" "" L "JD" IT""IJllJIT6Of::91"ITI"IT'I- '""" L "JD" IT""'I"" llJ GiilL c'9I:51"c'9I6IT6lj
,,@ffiJ@iLDI"Girr"" lJ)Q"IT6lirrL::9I

@i""iD)ii1"'" "" L "JD" IT""IJu51Girrtil Gir"" lJ)8>@i-"LD "ITI"IT'1- '""" L "JD" IT"" 'Iu51Girr
til Gir""lJ)8>@i-"iE""1" GiilL @i""iDQJIT" .@@8>@iLD

(A) 'A'. LoJDlPILD'R' .@1J6lirr(i)\LD"rlI G:lJ)@,'ILD'R' c'lh6Of::91'A' GiilJD"IT6Of"rlIllJIT6OfGiil6IT8>"LD

(B) 'A' lJ)JDlPILD'R' .@1J6lirr(i)\LD"rlI c'lh6OfITGiJ'R' c'lh6Of::91'A' GiilJD"IT6Of"rlIllJIT6OfGiil6IT8>",?c'9IGiJQ)

(C) 'A' c'lh""::9I"rlI c'lh6OfITGiJ'R'c'lh6Of::91I"QJlPI

(D) 'A' c'lh6Of::91I"QJlPIc'lh6OfITGiJ'R' c'lh6Of::9l"rlI

160. The minimum distribution steel to be provided in one way slab for Fe 415 grade steel is

(A), 0.0015 bD

0.0012 bD

(B)

(D)
0.0015 bd

0.0012 bd

~@ QJW1 uQ)"i!i:51GiJFe 4 i5 ,"000""" UllJGirru(i)\i!i:516OfITGiJG:I"""QJUU(i)\LD@i""iD)ii1"c'9I6IT6ljGiilIJQJGiJ'" 000@i8>

"LDL51u51Girrc'9I6IT6lj

(A)

(C)

ARe/15

0.0015 bD

0.0012 bD
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•

161. The critical section for shear will,be situated at ----- in the case o{simply supported
rectangular beam of effective depth d,

(A) dl3 distance from the face of the support

(B) dl2 distance from the face of the support

~ d distance from the face of the support

(D) 2d distance from the face of the support

IHTI"fTIJ6OlIT(YlL(ij)Ii>G"'fTOOL 'd' 6fGNf!) UlLJ@lW 2'MPIE61ll1"1i>G"'fTOOL 6lSlLLIE~ciJ "WIi>"'@<IIi>"'fT61lT"-uJlLJ,@61ll6U

GGlJL(ij) (Yl'" Lb 6fGNf!) ,@;1L1E~ciJ ~ 61ll11l'!!;~C'9Ii>@)Lb,

(A), (YlLllj-GN (Yl"'IE~61S1C'9'!!;i91dl3 i9JT1J1E~ciJ

(B) (YlLllj-GN (Yl"'IE~61S1C'9'!!;i91dl2 i9JT1J1E~ciJ

(C) (Yl Lllj-GN (Yl"'~~ 61S1C'9'!!;i9I d i9JTIJ~~ ciJ

(D) (YlLllj-GN (Yl"'IE~61S1C'9'!!;i912d i9JTi;rIE~ciJ

,162. The corner column in a multistoried building frame will be subjected to

(A) pure axial load only

, (B) axial load with uniaxial bending only

~ axial load with biaxial bending

(D) bending only

uciJ6U(ij)Ii>@)"'Lllj-LIE~GN "LLIE~GN (Yl61ll6Uu5IciJ"-.6ITGTTi9JToo .@l"rD@) "-.LU(ij)IEI"UU(ij),$1f!)i91

(A) "'lEI" ~"''''uu(56lSlrD@) l1lL(ij)Lb

(B) ~IJ",'"GlJ61llGTTl"ciJl1lrDWLb~"''''uu(5l1lL(ij)Lb
(C) R'IJ"'''' GlJ61lloITl"ciJl1lrDWLb~"''''uu(5l1lL(ij)Lb
(D) GlJ61llGTTl"ciJl1lL(ij)Lb
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Reason (R) :

163. Assertion (A) : Iri continuous beams under reversal of stresses, there will be a negative
moment near the mid span and positive moment near the support.' .

T.beam action may be utilized' near the supports and 'should not be
considered near the mid span' while designing continuous .beam under
reversal of stresses.

Sele~our answer according to the codes given. below':
(~ Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A) is true, but (R) is false'
(D) (A) is false, but (R) is true

/EIT~~Tlb (R) :

ill",,/E6lJ iKGiT""LDu516\J,,-GiT.,.,- GillITLrT 61SlLLit~6\J, LDit~lU iDLLit~JD@j ~Qfi£l6\J
,"~rTLD""!D~QfiULj""LD"-ILD(lPLQj\8;@j~Qfi.$l6\J G)!irTLD""!D~QfiULj""LD"-ILD@Qfi8;@jLD.,

ill",,/E6lJ L1lGiT""LDu516\J ,,-GiTm GillITLrT 61SlLLit"" ill GtJ"l-GtJ"" LD8;@jLDGUITi!jI (lPLQj\8;@j
~Qfi£l6\J T - 61SlLL G"lU",,6IJU ulU6irruQj\itill6IJITLD~6OTIT6\J@""ill LDit~lU iDLL~~JD@j
~ Qfi.$l6\J/EQfiit~ 6\JG /EITGiT.,.,-8; IlnL IT:1)i .

,g;GW G1£ITQj\8;/EUULQj\GiT.,.,-@j!DIuSQj\/EffiIQ\\ Qfi)iii!jI"lf1lUIT60T61Sl""L"" lUGillrT)iiG illQj\iti!jl '"@i!jIl£.
(A). 'A' LDJDWLD'R' @~.;",-Qj\LD"rTlGLD~LD 'R' ~6OTi!jI 'A' 61SlJD/EIT6OT"rTllUfT6OT61Sl""-8;/ELD
(B) 'A' LDJDWLD'R' @~.;",-Qj\LD"rTl~6OTIT6\J'R' ~6OTi!jI 'A' 61SlJD/EIT6OT"lf1lUIT6OT61Sl""-8;/ELD~6\J6IJ
(C) 'A' '~6OTi!jI"rTl ~6OTIT6\J'R' ~6OTi!jI illGtJW

. (D) 'A' ~6OTi!jI illGtJW~6OTIT6\J'R' ~6OTi!jI /ErTl

.164. According to Grashof.Rankine and in two way slabs Marcus, the ratio of Wx to wy load

sharing is proportional to

(B) (~J
(D) (~J

.$l~~IT.'.U - G~6irr.-il/E6irrLDJDWLDLDITrT/EOO&JDwuu"l- @QfiGtJio9lU6IJ/Eit~6\J WX LDJDWLDwy 61SlJD/EIT6OT"'""LD

U£I rT61Sl6irr61Sl.$lillLD@illJD@jG)!irT61Sl£Iillit~ 6\J@Qfi8;@jLD

(A)

(C)

AEC/15
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165. The spacing of stirrups in a prestressed beam should not exceed
(A) Overall depth of the beam .(B) Effective depth of the beam . . . -

~ "0.75 times the effective depth of the beam
(D) 0.3 times the effective deptbofthe beam

. <!P~iD~d;Qj Q6uJUJUULL 6!SlLL~~Q> <!9Illj.8;Qd;fT156!Sl8;.$I~LGUJUJfTQI. i9JT'ltD .@~iD6!SlL .,@j~d;lDfTd;
.@(!98;d;8;8<l.LfTi9I

(A) 6!SlLL~~m QlDfT~iD~\9tD

(B) 6!SlLL~~m uUJWJ!J,lJ~\9tD

(C) 6!SlLL~~m uUJWJ!J,lJ~\9~~iDuGUfTQ> 0.75 IDLri.J@) .

(D) .6!SlLL~~m uUJWJ!J,lJ~\9~";'iDuGUfTQ> 0.3 IDLri.J@)

166. Masonry chimneys ate lined from inside wi'th fire' bricks, atleast upto
(A) '1 to 5% of its height from bottom
(B) 6 to 10% of its height from bottom
(C) ,j1. to 15% of its height from bottom
~O to 25% of its height from bottom

Qd;fT~i91 G6lJ~Q) Lj~d; GUfT8;.$Iu5lQ> ~8;d;fTULj6 Q6ri.Jd;Q> l2...m156b1jDUJfTQli9I @)~!DliiiDUL6tD '@Iii~
<!9IGlTQj8;d;fT6lJi9I.@(!98;d;G6lJ.wr(!)ltD

- (A) <!9Illj.u5lQ\1(!9liii91<!9IiDml2...UJ'l~~Q> f <!PiDQ>5%

(B) <!9Illj.u5lQ\1(!9liii91<!9IiDml2...UJ'l~~Q>6 <!PiDQ>10% .

. (C) <!9Illj.u5lQ\1(!9liii91<!9IiDm"-UJ'l~~Q> 11 QpiDro 15% .

(D) <!9Illj.u5lQ\1(!9liii91<!9IiDml2...UJ.'l~~ro 20 <!PiDQ>.25%

167. The partial safety factor for strength of steel reinforcement at limit state of collapse is.. , .

I#J 1.15 (B) 1. 20

(C) 1.25 (D) 1.50

or:.@) 6lJ~~L(!)l8;d;LJLSlu5lm ~!D6llfIlDd;fTQI.6lJ'ltDLj .@6b1Q)<!p!DlliigjJGUfT6lJiDlDd;fTQIU@)~ .ifTULj8; d;fT'l"lllfl
. (A) 1.15 (B) 1. 20

(C) 1.25 (D) 1.50
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168. Match List I with List II and select the correct answer using the codes given below:

List I List II

.(a) Canal drop l. Control of flow depth

(b) Canal escape 2. Control of bed grade

(c) Canal cross-regulator level. 3. Control of full supply •

(d) Canal outlet 4. Control of discharge

(a) (b) (c) . (d)

(A) 2 3 4 1

. JIlf'f 2 3 1 4

eC) 3 2 1 4

(D) 3 2 .=4 1 ,

UL"t-lUGUI UL"t-lUGU II

(a) IHTGUru rrlU .@JD8;ffiLb l. UfflUBoITGUqj,W~iI5I~ ffiL(i)iuurr(i)i

(b) ffiITGUru rrlU !D6lIlIT 2. ~"t-~!Dm !D1J~iI5I~ ffiL(i)iuurr(i)i

(c) ffirrGUrurrlU @iIDJ8;@i-LD!D(I5LDLUi:> 3. (lP@ ruWrliJ@i!D6f)Q) ffiL(i)iUU(i)i~i91!DGU

(d) a; ITroDQJ rni..l l@J !!t-8i~6l> 4. .£~lJrrLL~6f)!D ffiL(i)iU U (i)i~i91!DGU.

(a)

(A) 2

.(B) 2

(C) 3

(D) "3

AEC/15

(b)

3

3

2

2

(c)

4

1

1

4

(d)

1

4

4

1
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169. Match List I with List II and select thecorre'ct answer by using the codes given below

,,
"

List I

(a) Isopleth

(b) , Isohyte

(c) Isochrone

(d) ,Isopluvial

1.
'.
2.

3..

4.

List II

Line joining points of Equal depth of rainfall

Line joining points of E9ual rainfall magnitude

Line joining points of Equai time of concentration
. '; " , '

Line joining points of equal depth ofEvapotranspirl;'tion

(a) (b) (cl (d)

(A) 4 13,2
c '

,? .. ~.

2 3 1
.1"'." ,,,-,,.,,;,,;_'/".; ."',<"!, .\_',

. (B) 3

'",~4'.

(D) 1

4

2

2

4

1

3

'~':

UL."l;UJ6UI

(a) IE G8'FTtS16tlIi;

(b) IEG8'FT",,~L.
-.

(c) IEG8'FT@)Gr,rFT6irr '

- (d) IEG8'FTLj ~6lS1UJ6U .'

1.

(a) (b) \c) , (d)

(A) 4 1. 3 2

(B) 3 4 2 1 (
I

(e) 4 2 3 1

. (D)- 1 2 4 3

..
'-."'.~;}:+"~~~~":~:~:~--"'~:~./~:~:.;'~
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170., The Water Yl"arin India maybe taken as
..\iii' From June tAl May ,
(B) From January to December
, (C) From April to March
(D) From October to September

" .

GJUIJ6UQPi06U WITrrlfQJ""IJ

,.,l9I8;GLITUrr QPi06U.QifULtDUrr QJ""IJ

.@)i;~lUIT6l5l6U ff,rr ~6lfoTLIT/li 6T)i;iOLDITiOil;~Q\lQlj)i;~ 6T)i;iOLDITiOtDQJ""IJ 6TG'il;~8; Q/liIT.mmuuG'$l!D~?
, '

(A) 1Jil-f)ro QPi06U GLDQJ""IJ '

(B) 1Jil6OTQJITlQPi56U "l-lftDUrr, QJ""IJ

(C)
(D)

171: The :mostcommonly used probability distribution to fit the flood data is
(A) Normal distribution
~l" Gumbe~'s extreme value distribution
(C) Log-Normal distribution
(D), Gamma distribution

QQJ.mmu QUQlj8;/li iO/liQJ6"06\lQUITQljil;~QJiO!D@j QUIT~QJIT," UlU6OrUG'~UUG'tD ~~WiO/liQ.j UIJQJ6U"

(A) .@lU6U~ UIJQJ6U

, (B) /litDU6UG;iu~1fIf LDI;1~~ UIJQJ6U •

(C) LDL8;",,/li-.@lU6U~ UIJQJ6U

(D) /liITWITUIJQJ6U

172. The useful moisture.of a soil is equal to
(A) Field capacity
(B) Saturation capacity
(C) Moisture content at permanent wilting point .
JIll' Difference b~tween field capacity and permanent wilting point

LD6lfoT.mI~.mm ILU c:lUIT/liLDITQ!!A' IJUUiOtD£W8;/li6lfoTLQJ!D!Dl6U6TiO!D@jIfLDLDITQ!!~ ?

(A) QJlU6U Q/liIT.m~!DQr

(B) ~""!D Q/liIT.m~!D6Or ,

( C) ~ lJ)i;iOIJQJ ITG'i06UJBIQ, 6\luSl6UiL.mm A' IJUuiO tD

(D) QJlU6U Q/liIT.mI;1!D@l8;@jtD~1J)i;iOlJ QJITG'i06U~",,6\l8;@jtD lL.mm GQJJ))JUITG'
'.
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173. ,The difference in crop response due todiffe;entirrigation methods can be evaluated using
. ", .' - . " ' I. '_.

(A) Crop water' use efficiency
, ,

(B) Field water use efficiency

(C) ,Water application efficiency

~,ConsumPtive use efficiency

'" U Gil~6lJ iJ)I u rr8'';'' (lP"'l!D~ffiI Gil, u ~ iT"ffil6'or tSi ~ ~ ':' 615lU lSl6'or~6lJiJ)Iu rr(ij)""'lQT Grol! 6lJ rriJ)l~ ffi6Bl LQ) rrw?

(A) ,u~iT.ffiiT UllJ6'orurrL(ij)~ ~!D6'or

(B)'. "~)£1Q) .ffiiT,u1lJ6'or,-!rrL(ij)~%I!D6'or

,(C) .ffiiTG4@)J~i9ILb ~!D6'or- ,

(D) 'IDJ"iT8'61 ~!D6'or

.,'-/

, ,

174. The 'coefficient of variation: of a good point source emitter ora drip system should be
I'

(A)

(C)

(A)

(C)

< 0.10

< 0.15

, (B); < 0.20

~0.05,

(B) < 0.20

(D) < 0.05

• ~:

'175. Fish ladder is provided on the side of
',;~','. ,'" ',',
". divide wall

(C) core wall

(B) 'dil!phragm wall

(D) 'wing wall

r.

(A)

(C)
(B)

(D)
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176, A lainp post at the edge'of the pavement re~lu~~s\lie, capacity of a la:n~to":'"
"'(ill' 72% ", (B) 90%' .. .."

(C)60%'. ".(D)"84% ':> ,:

,I., .

6\Jrrs;QTrfus;6irQ6Q>Q)ffi8i>."1-~.:uWlu5iGNSlIj:2;~Qi ~mffi@i8;t1l~t1l~@P;lOrr.iJ -----~mGi.j 6rr""Q)u5i6irr
. .. . . . - .. .".

~!DGN@;"" !D£l!D~'

(A) '72%'

(C) 60%

(B), 90%

(D) 84%,

,
177. Reflection cnicking is observ~d in

'(A) ',Flexible pavement'

(B)' ,Rigid pavement,. ' "

y, i3it~minous overiay~over cement'con~rete surfa~e

,(D) ,Rigid ov~rlay over flexible pavements, '
,

(A)

(B)

(C)
(D)

QjD£l~6\JrrQT '6rr""Q):2;IOmt.D,
. ,

~LLDrrQT 6rr""Q)P;IOGrrt1l

Bifuminous IOmt1ls;!i>s;ir""lj IOmp;~GN tO~ ~""LD'4t1l a"';rr~

~LLDrrQT6rr""Q)p; IOmt1lGp;£lW6\Jrrm 6rr""Q):2; IOGfip;~~tO~ ~""LD'4tbaurr~

..

'178, M~imum lateraldearance desirable from the pavement edge is , "
',(A) LOOm "'~ 1.85m' .

, (C) 1.55 m " , (D) 1.70 m

6\Jrrs;~rfus;6ir Q6Q>.iuffi8i>."I-UJ6\JWluS1GNSlIjP;~QS1@P;~ Sl~ffi.s;a6\J."I-UJ @j""!DP;~UL.6' uffiS;6iJfTc.:~~s;Q)t1l
-' . - . . .. .

. -1",':-' i
AEC/15.

'v

1.06 to'
1.55 to

, ,

',(B) 1.85'to '
,',

(D) 1.70ill

68
•



j

. 179. An advant~ge of 'one 'way traffic' system is
.,., ' .'

(A)

(B)

(C)
j;IIf'

,Saving offuel,

Quality ofimprovementiri environment. '.

Saving of cost

Reduced !lumber of points9f conflicts

,.
i
! ~@ 6lJ~ 8'rr6ID6\JlJ c:u rr8;@i6lJ~::i;~ 6irruuJ 6irr

. ,

(A) . GTITlQu rr@6IDG!':C:8'u5h.Jui91 .
••• _~__ " '. ,- _.' 'r -., _'~.'_ ",_ >"

. _.' .

(B) ;8irDWLJl.jjD"'~k96ID~ C:lDtDU@::i;i916lJi9I

. ,,' ...

,-'.-, '" '.;' \..<', ," .

., 180. The numberotfatal road' accidents in India IS in the order of "'- "",. ,

(A) . Less than 1.2lakhs per year

~More than f.35lakhs per year
-.r

(C)

(D) .'

Above 1.5 lakhsper year
'. . .... I'"

Less than 1.00Iakh per year

(B)

(A)

(C)

(D)

w)iB~UJrr61SlilllD~6olrr::i;6IDi""JrDU@~~~,,"UJ 8'rr6IDal 61SIu~~a;ffi16irr GTOO~8;!"la;

6lJ@L::i;~rD@i 1.2 W)6\JL8'::i;~rD~ @i6IDjD~r<~ .

6lJ@L::i;~rD@i i.35 W)~Lir::i;~rD@i ~i51a;lDrra;

6lJ@L,-::i;~rD@j1.5 W)6\JL8'::i;~iD@iC:lD6\Jrra; r

~ @L::i;~ rD@i1. OOW)o;uL8'::i;~ rDti@i6IDjD6lJrra; .
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181. Concrete roads are opened to traffic after
(A) 3 days
(C) 14 days

(B) 7 days

fJJI!'" 28 days

CUITLlJULL /hlTrSJ.$/iL 61TQl6\l <IT~P;Ql6OTJDITL/h.rrl,;, CUIT8;@)6u~~~dl@) ~lDP;i916lSlLlJUQ;\llillDi9I?

(A) 3JDITL/hffi (B) 7 JDITL/hffi

(C) 14JDITL/hffi (D) 28JDITL/hffi

181. Which one of the following is incorrect about a flexible pavement?
(A) Grain to grain transfer of compressive stresses
(B) Reflects deformation oflower layers on road surface
(C) Comprises of subgrade, subbase, base and surface course'

~ High flexural strength .

.$W/hGilrrLQlQ)/h.rrl,;, <ITi9I )B16\l8;.$6\lITn-p;p;6ITQl6\lCW ITQ;\(;;lP;ITLn-U dl lDi9I?

(A) Ljffi.rrluS1GOr e!J'6\lLi:>.@I@~P; P;Ql/hGlj JD/hn-~,;,

(B) £\il.@ltq-~iOGIT~~GOr UIT~uLj/hQlGIT CUl';'iOGIT~~dl@) L51~~urol~iD,;,

(C) .@Itq-Il;P;GITLi:>,@QlL~P;GITLi:> UldlJ!)lLi:>CUl';'P;~[Tfr,,/h.rrlGOr .@I@~iOLi:>

(D) .@I~/hUlIT6OTQI<;>')GITW8; &tq-w QlrolQlUl

183. If Td,Tvand r. are traffic density, traffic volume and speed of the.traffic flow, respectively
and when T, = 0, then .

. (A) Td = 0 and Tv is maximum

(B) Td and Tv are maximum

(C) Td = Tv = 0

~ Td is maximum and Tv = 0

Td, Tv' Ul,dlJ!)lLi:>'T~ <ITGOrui9JCU'IT8;@)6lJ~Il;~GOr .@ILn-~~, .@IGlTGljUldlJ!)lLi:>C6lJ/hLi:><ITGOrlDlT';',T, = 0 <IT6>Ilro

(A) . Td = 0 UldlJ!)lLi:>Tv .@I~/hUL6UlIT/h @(!98;@)Li:>

(B) Td UldlJ!)lLi:>Tv .@I~/hUL6UlIT/h @(!98;@)Li:>

(C) Td = Tv = 0

. (D) Td .@I~/hUL6UlIT/h @(!98;@)J:. UldlJ!)lLi:>Tv = 0
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184. 'A goodbituminous concrete road should have a ro:uglinessvalue 'in the .range ~f'. , ' , .

,/tiff" 2000~~50b mm per km ,'"
. 'I - ,:' ,

(B)

(C)
(D)

2500 - 3000 mm per km
'. )

,35,OO~4000 mm per km

1000~ 1500mm per kni '

. ",-' ....
':'. ,-' .•....: ','t' ." ~",.', .., ,- ,. ~-..

"

" "::'1

, ,
185. Tie bars are used in cement con~~etepavements to withstand... ."' - . , ", .',

!
i

.il

, ,

-' : .< ,". .'

"
'I.'.

(B) 2500 - 3000 uSI:tE/.$).tE "

3500- 4'000uSltE/.$).tE(C)
,,',. CD)'

, .

(A) Shear stresses
. .~',..- - " ,'. .'.

~'J'ensile st~~sses"'

(C) Compressive stresses

,
r

\

,(D) Torsional stresses

(A) ,~r;m'tiJ6ijGl5l"'If"'UJ',"~rTQffirrGiTm.. . ~ ~ . .

" (B) ", ~(\g~';;~"'~,"~rTG1ffirrGiT61i

"

(C)
,i
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. 186. 'For a 3 degree Bro'ad Gauge transition~d curve having ma:Ximuni'sect~onal' speed of

100Km/h, the safe speed is

. (A) . 82Kmlh

(B) 89 Kmlh

~
101 Kmlh

.(D) 93!{mlh

3°. urrbOle;e;GiT tDlDl!JIU:>1 tELLI'r <!9j8;Q)U:>@GIDL%lQlQ) QJbOlGIT6ljLQr .tDlDl!JIU:>'100 llil.tE. GQJ8;U:> Qe;rr~L

@IDuSlQ\lQr urr~e;rruurrQT GQJe;u:> <;TQrQT?,

(A) "82 Km!h '.

(B) 89 Kmlh

(C) .101KmIh.,

(D) 93Kmlh

187.. Th~ place within the harbour where ships can tutn around to change their direction is

.called as

(A) . Dock"

(B) Anchorage Area

.Jj1f' 'turning Basin or.Turning circie

(D) Berth

(A) ~bOl!D

(8) jliffiJBnl)"Uul)"U'-l

. (C) ~(!!jl:JL.j @>W16lj~Q~rrL"l- <!9jQlQ)~,~(!!jUL.j QJLLU:>

(D) e;':;uQl .@l!JI~~uI1LL~

'.
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,
188, In the joining of rails by welding, CWRmeans

(A) Corrugated welded rails
ry Continuous welded rails
(C) Corrosion of welded rails
(D) Combined weldingof rails

UlDW""GUULj (ylQJtil i06WrL<nJrTmri.J/h6IDm WJ6ID_.uu~6i> CWR .,.6irru~ .

(A) Q)D6tflGUrT"" UlDW""GUB;/hUULL i06WrLGUrTmtil

(B) QiOrTLn- UlDW6IDGUB;/hUULL p;6WrLGUrTmtil

(C) 'UlDW""GUB;/hUULL i06WrLGUrTmW ~<!9ut5I"I-!5i06i>

(D) a8'n-!5~ UlDW""GUB;/hUULL i06WrLGUrTmtil

. 189, Choose the odd one out:
(A) 'Runway and Taxiway
(B) Apron and Hangar
(C) Approach zone and Turning zonery Terminal and Lounge

QU rT<!9)i;iOrTi06IDiO,Q iOlI16l.lQ 8'tU /h :

(A) 'lJlQ)lU rT6IDiOLDlDI!JItil GUrT6irr/h6U GUW1

(B) /h rTULj!5iOLQ)l LDlDI!JItil 6l5ILDrT6liiu U .mlLD6'Ol""

(C) <!9I@lI@) LD6WrLQJtil LDlDI!JIW ~ <!9til Lj LO«iiruu til

(D) <9'""""UJ til LDlDI!JItil 'lJl tU6l.l <!9I6'OlW

•

190, The minimum depth of ballast with sleeper spacing '8' and width of sleeper 'W' is
2S-W S-2W

(A) 2 (B) 2

J S-W S-W
~/ 2 (D) 3

(A)

(C)

'W' <!9I/hQJ!56'Oli014til.
iOm!5~6irr ~Yltil

2S-W
2

S-W
!l

73

(B) S-2W
2'

, ,
S~W
3
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191.. 'Latest start and finish timein CPMis determinedj; . .....
(A) Forward pass (~ackward pass

(C) Upward pass (D) Downwardpass

CPM- ." 8'L1)uLDrr6Ni9J~,s$lo LDrD,!!)JloCY'Lq-64G)!l'llo ~@J6lJrr,!!)J$6OM,s.$1Luu0.$1lDi9J?

(A) CY'wG6Nrr,s.$1)!l$rri5.,,(B) LS1wG6Nrr,s.$1J!i$rri5'"

(C) G~."GJ!irr,s.$1 J!i$rr~'" (D~ £~GJ!irr,s.$1 J!i$rr~'"

192. .CPMscheduling ofprojects is a
(A) Probabilistic approach to scheduling

~Deterrriinistic appro;ch to scheduling'

(C) Simulation approach to scheduling.

(D) Production rate approach to scheduling

VlC'9~LL 6lJ6'l'l6lSlrD$rr6NG6lJ6'l6\l~ ~LL~6'l~ CPMCY'6'llDUULq-QU,!!)J6lJi9J.

(A). 6TG~8'6'l8'UJrr6N~@@jCY'6'llD G6lJ6'l~~~LLlo

(B) _rr~~LDrr6N ~@)I@jCY'6'llD G6lJ6'l6\l~~LLlo

(C) LDrr~rfl~@)I@jCY'6'llD G6lJ6'l6\l~~LLlo

(D) "'--rDU~~ ~m64 ~@)I@jCY'6'llD G6lJ6'l6\l~~LLlo

193, .Whichone of the followingis an incorrect network rule? ..

(A) There must be only single initial mode in a rietwork

~An event can occur twice

(C) There must be only single final mode
(D) No activity can start until its tail end event has occurred

LS1W6lJC'96lJ6N6lJrD,!!)Jw6Ti9J~6lJ lDrr6llT6lJ6'l6\l~Q i5rrLrr G6lJ6'l6\lu51w 6lSl~?

(~) 6lJ6'l6\l~Q~rrLrr G6lJ6'l6\lu51." VlGil VlC'9i9J6lJ,s$U ljwGlfl ~C'9,s$ G6lJ000lo

(B) 6T)iii5 VlC'9)Bl$ ~ 64 lo ~ C'9CY'6'llDJ!iL,s$6\l rrlo

(C) VlGil VlC'9C1JlLq-64Ulj wGlfl LDL0 lo ~ C'9,s$ G6lJ000 lo

(D) ~~w6lJrr"'CY'6'l6llTu5I."",--wm )Bl$~64 CY'Lq-UJrri5@j6'l'l6T)ii~VlC'9Q8'UJWlo ~6lJr6J$,s 8i>.Lrri9J
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194. If latest finish time of an aCtivity is 63 a~d its earliest finish time is 42, then its total float is

(A) .63

JY 21

(B) 42.

(D) 105

~('lj Q8'llJ6lSlGirr "Lliu~ITm C'f"'r8>@jLO C:)5IJLO63 wWWLO ~15Girr 98>""lJwITm C'PLq-8>@jLOC:)5IJLO 42 6T6O\I6\l, ~15Girr
QWIT~15 u5115u L.j

(A) 63,

(C) 21
(B) 42

(D) 105

. "195. Drainage is taken along with sewage in a

(A) separate system.

(B) partially separate system

(C) both in separate and partially separate system

~combined system

1£~ 6lI ,IT; ('lj LGirr C:" iT)iJi9I 6lJLq-'"IT6\l Gf)iJ)fiI""Q) uSl6\l 6TGl~i9I8> Q ,"IT.n-6lTQ)rrLO?

(A) 156O\1llJrrm C}P""fD (B) u@ji51wrrm1560\1 C'P""fD

.(C) 156O\1wWWLO u@ji51llJrrm 1560\1C'P""fD (D) ",,-LGl C'P""fD •

196. CPM was discovered independently of PERT by

(A) Chris Hendrichson

(B) Henry Gantt

(C) D.J. Fulherson

.lJifi" Du Pont and Spery Rand Corporation

PERT -re 615IL CPM 6TGirrUi91"'15)iJi5IlJwrrm C'P""fDuSl6\l .@6lJlJrr6\l '"oo-Gl~ Lq-8>,"uULLi9I

(A) .$1!Dl.ru Q~GirrITl",...w

(B) Q~Girr!Dl ,"rrGirroOoL

(C) Lq-.C:m. :oL.j6\lQ~iTIfGirr

(D) Lq-\hhurrGirrL WWWLO .ruQUITlIJITOO-L ,"rriTuuC:IJ~6irr
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197. Which type of computer will you most likely encounter at the department of motor vehicles?

(A). smart phone

(B) note book

(C) super computer

~mainframe

198. SQL stands for

(A) Scalable Query Language

~ Structured Quer~ Language.

(C) . Standard Query Language

(D) Structured and Quick Learning

AECI15 76



199. The four types ofMail Merge main documents are

(A) Form letters, Directories, Catalogs and Envelopes. .

(B) Form letters, Envelopes, Mailing labels, Directories and Lists

(C) Basic letters, Envelopes, Labels and Lists

Y Form letters, Envelopes, Mailing labels and Catalog

.
200. CADand CAMare linked through

JitII" a common database and communications system

(B) NC tape programming and automated design

(C) assembly automation and tool production

(D) parts production and testing

17 AEC/15
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